uruquonsvk uurep
UGSULUU LUNULUSPL 2UUU3LLD

2020 PYUUULP £3NPRT

Zuutnnwnyws £

Upwnwpul hunfwjiph wjwquitint
2020 pulwbh 2% /7 2020 -h N 25—2{npn2du111p

(hunluyjiph pyniokll uuywuwplynn nknquljut qubdwyknuljub pudwitiiniiph wwinuip)

gU24EM8UL eNYUUTU UUreUR

2UUUSLLP NBU UL UL . et
' (wlntbip, wqquiniup, huypwbnilp)

4. S.



<US4UDU 1
UCSUNUY 2UUUSULLP 20208 A3NFREE BULUNRSLELT

(hwqup npwdn

win pynuf’
<
Snnh NN GYwdwnwwnbuwlukpp s § Chruiihtin Jupswlwl | $nunwihu
NN (u.5+u.6)
dwu dwu
1 2 3 4 5 6
joop |CUHUUBLE BUUUNRSLER (tnnn 8762057 | 588880,8 | 287324,9
1100 + winn 1200+wnn 1300)
wn pyYnud’
1100 |1. €UPUGP B4 SNhPLEN 7100 216930 216930 X
(ninn 1110 + winn 1120 + winn 1130 + ninn 1150 + wnnn 1160) 216930 216930
win puUnul’
1110 |1.1 Snypwjht hwplbip wupwpd qnyphg 7131 93500 93500 X
win pynul
SGnypwhwpl hwdwjupubinh Jupswywu nwpwdpubipnud
111 60000
qunuynn gkuptinh U ghunygyniutiinh hwdwp . BR00D X
112 <nnh hwpl hwdwjuputiph Jwpswlwu nwpwdpubipnud 33500 33500 X
gunuynn hnnh hwdwp
1120 | 1.2 Snypwyhtt hwplybp wy gnyphg 7136 85000 85000 X
win pynud
n21 Snypwhwnl thnfuwnpwdhgngubinh hwdwp 85000 85000 X
1130 7145 23430 23430 X
win pyYnul’
131 Stinwlwu winipptip 71452 23430 23430 X
(ininn 1132 + winn 1135 + winn 1136 + wninn 1137 + wninn
1138 + wnnn 1139 + winn 1140 + wninn 1141 +wnn 1142 + 23430 23430
wnnn 1143 + wnnn 1144+wnn
1145+wnnn1146+wnnn1147+wnn 1148+wnnn1149+wnn1150)
win pyYnud’
w) <wdwjuph nwpwdpnud Unp okuptinh,
132 ohunipniutitiph (Upwnjw ng hhduwlw) 6000 6000 X
ohwpwpniRinlu (nbnwnpuwl) pnyuYnLRjwl
hwdwp (wnnn 1133 + wnnn 1334),
nphq’ 0
1133 wiw) <hitwlwl ohtunieiniuttiph hwdwp 6000 6000 X
1134 wp) Ny hhduwlwl ohunieiniittiph hwdwp 0 0 X
p) Cwdwjuph Yupswljul wnwpwdpnud 2kuptiph,
ohuntpjniuiph, pwnupwhbwluwu wy| opjywnubinh
YEpwlwnnigdwl, ndbnugdwl, Jtipwlywugudwl,
1135 wpnhwlwiwgdwl wfuwwnwupubp (pwgwnnipjwlip 100 100 X
<< opbuunpejwdp uwhdwudws' ohuwpwpnip)wu
pnynynipintu swwhwugynn nbwpbnh) uwwnwnbnt
penyunynipjwl hwdwp




136

q) <wdwjuph Junpswlwt nwpwdpnud 2kuptiph,
ohunipjniuitinh, pwnwpwhUwljwl wy| opjlywnutiph
pwndwl pnyunyniejwl hwdwp

100

100

137

n) <wdwjuph nwpwdpnud ngbiihg fudhspubinh b (Ywd)
Stuwfuninh wpunwnpwuph Jwéwnph, huly hwupuwhu
utinh opjiyinuibipnud” nqbijhg fudhgputiph b (Ywd)
Stuwfunwnh wpnwnpwuph hpwgdwl pnyunyntejwl
hwdwp

4200

4200

nphg'

nw <wdwjuph nwpwdpnud nglijhg fudhsputiph b
(4wd) huly hwupwjht ubunh opjyunubipnud’ nglijhg
fudhgputiph b (Ywd) Stuwfunuinh wpunwnpwuph
hpwgdwu pnyunynipjwl hwdwn

2100

2100

n)p Cwdwjuph nwpwdpnud dtuwfuninh
wpuwnpwph uéwnph, huly hwupwhu ublnh
opjtywnutipnid’ ngtithg fudhgpubiph U (Ywd) dfuwfunwnp
wpunwnpwuph hpwgdwl pnyunynipjw hwdwp

2100

2100

138

t) Cwdwjuph tnwpwdpnid pwgopjw Ywéwnp
Yuquiwlbpuwbne pnyunynipjwt hwdwp

1139

q) <wdwjuph nwpwdpnud htinntly Junbihph, ubindjws
plwlwu Ywd htnnywgywsd bwypwht qugbiph
Jwupwdwfu wnlwnph Yanbpnw hnnly Junbihph b(
Ywd) ubniywsd puwlwu Yuwd hbnnilywgywsd
bwypwiht gwgbph L wnbfuthjwlwu htnnyutiph
Jwédwnph penyunynipjwl hwdwp

5700

5700

nphg'

q)w/ <wdwjuph nwpwdpnud hinnly Junbihph,
nbuthwywu hennwubph Jwéwnph pnyunynipjwl
hwdwp

1800

1800

q)p/ Cwiwjuph nwpwdpnud ubndywd puwlwl Yuwd
htinnywgywsd bwlpwht quagbiph dwupwéwfu
wnlnph Ytwnbpnud hbnniy Junbihph W( Yud)
ubniywd puwlwl Ywd hbnniwgywsd bwypwjhu
gquqtiph L wbfuuhlwlywu hbnniyubph Jwbwnph
penyuyniejwl hwdwp

3900

3900

1140

E) Cwdwjuph nwpwdpnid wnlinph, hwupwh
utunh, qupéwuph, pwhnuing fuwnbph L
Uhbwlwiuwnbiph Yuquiwltpuwdwu opjtywnutipp,
pwnuhpubipp (uwnwwubpp), fuwnwnubpp dwdp
24.00-hg htivnn woluwwnbint pnyunynipjwt hwdwp

100

100




1141

0) Cwdwpwnwpwjht Ywunuubphu
hwlwwwunwufuwy Gplwu pwnuwph b pwnwpwhu
hwdwjupttiph tnwpwépnid punwuh YEunwuhubp
wwhbnt pnyjnynipiwl hwdwnp

1142

@) Cwiwjuph tnwpwdpnud wpunwphl gndwgn
nbinwnpbint pnynynipjwt hwdwp

4000

4000

1143

d) Cwdwjuph wpfuhyhg thwuwnwpenetinh wwinékubp
U Ypyuophuwlubip npwdwnpbint hwdwp

150

150

1144

dw) Cwdwjuph nwpwépnu (pwgwnniejwdp
pwnwhu hwdwjupubiph) dwpnwwnwp nwpunt
(Pwgwnnipwdp ippeniwiht tnwpuhubph)
dwnwynipynit hpwlwuwgubint pnywnyniejwl hwdwp

500

500

1145

dp) fGwulwndtip dbnwnutbiphg Wwnpwunywsd
hptiph dwupwdwfu wnnijwéwnph pnynyniejw

150

150

1146

dq)Udunnlwjwlwwntintiph hwdwp

1147

dn)<wdwuph nwpwdpnud gunynn fuwunipubpnwd
Ypyuwlubpnu wnbuthywlwy htnnubph Jw6wnph
pnywnyntejwl hwdwp

780

780

1148

dti) Cwdwjuph nwpwépnd hwupwjht ubinh
Yuqiwlbpwdwl b hpwgdwt pnyjunynigjwt hwdwp

350

350

1149

dq) Cwjwunwuh Cwupwwbnniejwt hwdwtptph
wbqwunwiubipp $hpdwjht wuwunwubpnu
oguwgnndbint pny|nyniejwl hwdwp

800

800

1150

dt) wy| nbnwlwu wnnipptip

500

500

1150

1.4 Uypwptbph dwnwlwpwpnushg b
Swnwjnipyniuph Jdwwnnignuihg wy) wwpwnwghp
Jéwpubp

7146

15000

15000

win pynid’

1151

wdwjuph pynigl Ydwnynn whtnwlwl nnipptip

15000

15000

(nnn 1152 + nnn 1153 )

15000

15000

win pynd'

1152

w) Pwnwpwghwlwl Yugnipjwl wywnbp gpwughint,
rpwig Jwuht pwnwpwghubipht Ynluwyh
YYwjwhwuutip, pwnwpwghwlwl Yugnipjwu
wlwnbipnud juwinwpywsd gpwnnwubpnud
thnthnfunipyniuibip, |pwgnuiubip, nipnnuiutp
Yuwnwpbine b JEpwlwqudwl juwwygnipjwdp

Juwnwbiwbubn wnuin huadwn

5000

5000

1153

p) Lnnwpwlwl gpwubbjwlubph Ynndhg
Ununwpwlwu dwnwjnipniutbip Ywwnwpbny,
Ununwpwlwt Yupgny Jwybpwgyws thwunwpenpbph
UpYuonphuwlubip wwint, UpYws Jwpdhuubiph Ynndhg
gnpdwnputiph bwhuwqdtp b nhdnwutip Yuqudbne,
thwuwnwpenebph wwwnbbubp hwubin b npwughg
pwnywdépubin wnwint hwdwnp

10000

10000

1160

1.5 Uy hwplwyht Blwdnunubp

7161




(N 1161 + tinn 1165 ) 0 0
wyn pynud’
Optiupny whtnwlwu pjnigh wdpwgpynn hwplybphg L
1161 wj| ywpuwnhp Jéwpubiphg dwuhwunwiubp 0 0 X
hwdwjupubiph pjnbutip
(N 1162 + winn 1163 + winn 1164) 0 0
1162 w) Ghwdinwhwpy
1163 p) Cwhnipwhwpy 0 X
q) Optiupny whwnwlwu pynigbiht wdpwgpynn wy|
1164 hwpytiphg U wwpwwnhp Ydwpubiphg wwnwnynn 0 0 X
dwuhwunwiubipp' jnipwpwugnip nwpyw whnwyw
pinwbh dwuht opbiupny uwhdwuynn swihbpny
<nnh hwpyh b gnypwhwpyh gdny hwdwjuph pynigt
Jéwpnuwiubiph ptwqwlwnnd pwgwhwjinywsd
1165 hwplwyht optiuunpnipjwl fuwfunnwubph hwdwp 0 0 X
hwplywwniubiphg quudynn winydtip b tninigwuputip,
npnup st hwodwplynd win hwplbph gnuwpubph
1200 |2. mUTSNLULUL HruvuzLnrLuer 7300 557078,7 269753,8 | 287324,9
(nnn 1210 + wnnn 1220 + wnnn 1230 + winn 1240 + winn 2697538 269753.8 287324.9
1250 + 1nnn 1260)
win pYnud’ 0
2.1 Cupwghly wpunwpht wywwnntuwlwl
2 731
110 npwdwunphubp’ unwgywé w)| wkwnnipyniutbphg o ® . A
win pyYnud’ 0
Cwdwjuph pynigh dnunpwgnpynn wpunwpht
Wwaunnwlwu npwdwaunphubp’ unwgywsd wy|
2n whwnnyeiniuubiph nbnwlwu huptwlwnwwpdwu 0 X
dwpudhlubiphg pupwghy dwfuutiph $huwluwynpliwl
Yosusunilingl
2.2 Ywyhwnw| wpnwpht yWwnnuwlwy
220 731 X
: nnwdwunphubp’ unwgywé w)| yhwnnipniuukphg - . e
wyn pynd’
Cwdwjuph pynigh dnunpwgnpynn wpunwpht
wWwounnuwlwl npwdwunphubp’ unwgywsd wy
1221 whwnneiniuiph nbnwlwu huptwlwnwlwpdwu X X 0
dwpdhuubiphg Ywwhww) dwhuubph $huwbuwdnpdwl
) PP woaaalaagl
2.3 Cupwghly wpnwpht ywwnntwlwb
1230 |npwdwunphutp' unwgywsd thowqgquyht 7321 0 0 X
Lwadwbbnwniemiiubnha
win pYnud’
Cwdwjuph pjnigt dnunpwgpynn wpuwphu
1231 wwounnuwlwl npwdwunphubp’ unwgywé 0 0 X

dhgwqqujht Yuquwlbpwnipniuutiphg pupwghy
dwhuubiph $huwuuwynpdwl bwwwnwyny




2.4 Ywwyhwnw| wpnwpht Wwnnwljwb

1240 |npwdwunphubp’ unwgywé showqgqujhu 7322 X X 0
Juwquwlbpwynipyniuubkphg
wyn pynud’
Cwdwjuph pynel dnunpwagpynn wpunwph
1241 wwounnuwlwu npwdwpunphubp’ unwgywsd X X 0
dhowaqqu)ht Yuqdwlbpwnieniutiphg Yuwhunw
Swhuubiph $huwluwynpdwu vwwwnwyny
1250 |3 CuPwghl bbinpht wwawnnbwlwh apudugnphbbp’ | - a5 | 5697538 | 269753,8 X
unwgyws Junwywpdwl w) Swlwpnwlubphg
(nnn 1251 + wninn 1254 + wnnn 1257 + winn 1258) 269753,8 269753,8
nphq’
w) Mbwnwlwu pinwbihg $huwtuwlwu
1251 hwdwhwpprbgdwu uygpniupny wnpwdwnpynn 250120,2 X
noininahiniibn 250120'2
1254 p) MEwnwlwu pynwbihg hwdwjuph Jupswlwu pjnigbhu 0 0 X
npwdwnnynn wj| nnunwghwubp
wyn pyntd’
pw) <wdwjuph pjneth Bywdnunubpp bjwqbigunn’
1255 <L optiupubiph Yhpwpldwl wpryniupnid hwdwjuph 0 0 X
pjnbih Glwdnunubiph Ynpnwwnubiph whwnnyejwu
Ynndhg thnfuhwinnigynn gnwdwpubip
v u thg hwdwju u
pnbihu inpwdwnpynn wy| nnunwghwubp
g) MEnwlwu pjnigbhg hwdwjuph qupswlywu pynwbhtu
1257 npwdwnpynn bywunwlywihu hwnlwgnuubp 1633,6 1633,6 X
(unipybughwutp)
) W hwdwjuptbiph pjnigbubiphg puewghl dwiuutiph
1258 $huwtuwynpdw bwywwnwyny uinwgynn 0 0 X
wwonnuwlwu npwdwounphubip
2.6 Ywwyhww| uEppht Wwnmnuwlwu
1260 |npwdwunphubp’ unwgywé funwjwpdw wy 7332 2873249 X 2873249
dwlwpnwyutphg
(nnnn 1261 + wninn 1262) 2873249 287324,9
win pynut
w) MbEnwlwu pnwbhg Ywwhwnw) dwiuubiph
1261 $huwtuwynpdwl bywnwlwhu hwinlwgndubp 287324,9 X 287324,9
(unipybughwubp)
p) Wi hwdwjupltinhg Ywuwjhwnw) dwiuutinh
1262 $huwtuwynpdwt Uwwwnwyny unwgynn 0 X 0
wwounnuwlwu npwdwunphubp
1300 |3. U3L BuuUunrsuLr 7400 102197 102197 0
(inn 1310 + ninn 1320 + winn 1330 + winn 1340 + winn 0
1350 + winn 1360 + wninn 1370 + wninn 1380+ winn 1390)
win pyYnw' 0




1310

3.1 Snynuukp

7411

wyn} pynu’

1311

Pwuybpnud hwdwjuph pngbh dwdwuwlwynp wqwin

dhongubiph intinwpwgtunuihg U ntiwnghwnutinhg
unwgywd nnlnuwydwnpubip

1320

3.2 Cwhwpwdhuubp

7412

wyry Ut

1321

Pwdubnppwlwu pulybpnygniuubpnud hwdwjuph
dwutwlgnipjwu nhdwg hwdwuph pynigk
dnunpwagpynn owhwpwdhuutp

1330

3.3 Gnyph Jupdwlwnipjniuhg Elwdnuntubp

7415

24500

24500

(nnn 1331 + winn 1332 + wninn 1333 + 1334)

24500

24500

wyn pyYntd’

1331

Lwdwjuph ubthwlwuniyeinu hwdwpynn hnntiph
updwybwnubip

15000

15000

1332

Cwdwjuph Jupswlwl nwpwdpnud guuynn whnwlwu
ubthwwunuyeynu hwdwpynn hnntph updwdéwpubp

1333

Cwdwjuph Jwpswlwu nwpwdpnud gunuynn
whwnnejwu b hwdwjuph ubithwlwunyejwup
wwuwnwunn hnnwdwubiph funniguwwundwl

hpwyniuph nhdwg quudynn Jupdwybwpubp

8500

8500

1334

Uyt gnyph Jwpdwywinipyntuhg dnunptip

1000

1000

1340

3.4 Cwdwjuph pyngkh Elwdnunubp wypwupubph
dwunwlwpwpnuwhg b dwnwynipyniuubph Jwinnignuihg

7421

7357

7357

(innn 1341 + wninn 1342+ wninn 1343)

7357

7357

win pynud'

1341

Cwdwjuph ubthwlwunipiniu hwunhuwgnn, wjn pynud’
inhpwantply, hwdwjupht npwtiu ubthwlwuntentu
wugwd wwpwupubiph (pwgwnniejwdp hhduwlwu
dhong, ns Unipwlwt Ywd pwpdpwpdbp wynhy
hwunhuwgnn, huswybu bwl hwdwjuph wwhnwnbbpnd
wwhynn wwpwupwunipwlwu wnpdbpubiph)
wéwnphg dnunpbp

1342

Mbwnyejwu Ynndhg nbnwlw huptwlwnwywpdwl
dwpdhuubpht ywwyhpwyywsd hwgnpnipjniuubiph
hpwlwuwgdwu dwfuubph $huwbuwynpdwl hwdwp
whunwywu pnwthg unwgynn dhongubip

7357

7357,0

1343

Opbupny uwhdwuywsd nbiwpbpnd hwdwjupwht
hhduwpyubph Ynndhg wnwug nbnwlwu wnnipph
qwuddwu Jwwnnigynn dwnwjnieiniuibph Yud
Yuwuwnwpynn gnpénnnueniuutiph nhdwg unwgynn
(quuaynn) wy| yéwpubip

1350

3.5 dwpswlwl quudnuiubp

7422

68340

68340

(nnn 1351 + winn 1352)

68340

68340

w)n pynut’




1351 Stnwlwu Jéwpubp 55340 55340
w/Sknwlwu Jbwpubp /swihwagpnid/ 590 590
p/Stnwlwu Jéwpubip/wénipnubph Yuqdwlbpunwd/ 250 250
q/Stnwlwu Jéwpubip/ wjwpunwlwu wyw/ 1000 1000
n/Stnwlwu Yéwpubp/dunnwlywu dhong/ 20000 20000
b//Stnwlwu Jéwpubip/pwqdwp 2tup uw.qupd/ 0 0
q//Stnwlwu Ydwpubip/wnpwhwunipjwu/ 33500 33500
Cwdwjuph Jupswlwu nwpwdpnid hupuwljwd

1352 Yunnigwd kuptiph, 2hunigyniuiiph ophtwlwuwgdwu 13000 13000
hwdwp Jéwpubip

1360 |3.6 Ununpbp winydbphg, mniquupubphg 7431 1000 1000

(ninn 1361 + winn 1362) 1000 1000
wyn pynud’
Ywpswlwu hpwywhwtunnuubiph hwdwp nbnuywu
Uptwlwnwywpdwl dwpdhuubph Ynnd

et E;wpmwuumwht£qnlpjwbndtrgngbnhhnrl: umphugjnmdhg L 1000
Gywdnunubip
Ununptip hwdwjuph pynigbh ljwindwdp unwlduws

1362 wwjdwlwgpwiht ywpuwynpnygniuubph syuwunwpdwu 0 0
nhdwg quudaynn gqény wnnydtiphg

1370 |3.7 Cupwghl ng ywannbwlwy npwdw)unphtbp 7441 0 0

(nnn 1371 + nnn 1372) 0 0
wjn pynu
dhghjwlwl wldwug U Yugqdwlbpwnieniuitiph
Uyhpwpbipnipiniuhg hwdwjupht, Jbpghthu tupwljw
pingtinwhu hhduwplubph tnuophudwul wugws

1371 gnyph (hhduwlwu dhong Ywd ng Unipwlwl wywnhy 0 0
shwunhuwgnn) hpwgnuwhg b npwdwlwl dhengutiphg
pupwghy dwfuubph $huwbuwynpdwu hwdwp
hwiwjuph pynl unwgywsd dninpbip’ npwdwnpyws
wpunwphl wnpyniptitinhg
bhghjwlwl wudwug b uqdwlbpwnieyniutiph
uyhpwpbipnieiniuhg hwdwjupht, Jtpshthu tupwyw
pinbitnwihu hhduwpyubiph wnuophudwlt wugwsd

1372 gnyph (hhduwlwl dhong Ywd ng Ujnipwlwt whwnhy 0 0
shwunhuwgnn) hpwgnwhg b npwdwlywu dhengutinhg
pupwghy dwiuutiph $huwtuwdnpdwl hwdwp
hwdwjuph pjnigl unwgywsd dnunptin’ npwdwnpyws
ubippht wnpjnipubiphg

1380 3.8 bwwyhww) ng Wwonntwlwl ppwdwunphubp 7442 X X

(nnn 1381 + winn 1382) 0

wn pynud’




1381

Lyhpwwnynipjwl, dwnwugnipiwl hpwyntupny
$hahlwlwt wudwughg b juqdwlbpwniegniuttiphg
hwdwjupht, ytpghtuhu Gupwlw pjnwbuwhu
hhduwplubiph tnuophudwut wugwd gnyph (hhduwlwu
dhong Ywd ng Ujnipwlwu wlwnhy shwunhuwgnn)
hnwgnuhg L npwiwluwl dhengubinhg Yuwhunw
Sdwhuubiph $huwbvwynpdwt hwdwp hwdwjuph pynigb
utnwgywé dnunpbip’ tnpwdwnpywd wpunwphu

sunnsnuniibanbo

1382

Udhpwinynipjwl, dwnwugniejwu hpwntupny
$hahjwlwl wudwughg b Yuwqdwlbpwnipniuttiphg
hwdwjupht, ybpohtuhu Gupwlw pjnigbunwhu
hhduwplutiph tnuophudwuu wugwd gnyph (hhduwlwu
dhong Ywd ng Unipwljwt wywnhy shwunhuwgnn)
hpwgnuihg U npwdwlw dhongutiphg Ywuwhuwy
Swhuubiph hpwlywuwgdwt hwdwp hwdwjuph pnyk
unwgywd dnunpbip’ npwdwnpdwd Ubppht

1390

3.9 Uy Ghwdnunubp

7451

1000

1000

(wnn 1391 + winn 1392 + wninn 1393)

1000

1000

win pynid’

1391

Cwdwjuph gnypht ywinbwnwé Yuwuubph
thnfuhwwninignuhg dnunpbip

1392

Ywpswlwl pinigbh wywhnwwnwiht $nunhg $nunwihtu
pnot Ywinwpynn hwinlwgnwubphg dnuwnptip

1393

Opbupny b hpwywlwb wy wlnbpny uwhdwuyws'
hwdwjuph pjnigt dnuinpwgpdwl Gupwljw wy|
GUwdnunubp

1000

1000




<UsS4uup 2

ucSuNuY 2UUUSULLP 20204YUYULN A3NFREP OURUELE CUS A3NRQESUSPL DUNUE D
GNrounNuyuL TUULYU UL

(hwquwp npwdutipny)

U w nud'
pur | tuned Pynigbunwghti dwhuubiph gnpéwnwljw Cunuibup 1 Ry
Sanp dhtu L puuwhwpquwt pudhlitnh, judpbph it (u.7+u.8) Jupswlwl dwu | $nunwiht dw
NN P nwubph widwbnuiubpp R nd e i
1 2 3 4 5 6 7 8
CLHUUBLE DUUGD
2000 X X X (:nnn2100+w0nn2200+wnn2300+w1nn2400+wnnn2500 1003778,8 591247,4 412531,4
+nnn2600+w1nn2700+wnnn2800+wnnn2900+wnn300
0+wnn3100)
CLAKULNRT PLNR3@D <ULMrUShL
200 o | o [ o SUIUSNFASARLbEP 177063,8 | 139363,8 | 37700
(nnn2110+wnnn2120+wnnn2130+w1nn2140+wnnn2150+
nnn2160+wnnn2170+wnnn2180)
wn pynud
OpLuunpp b gnpéwnpp dwpdpbbbp, wbpwlwt
aol o1 1 0 Ywnwdwpnd, phtwbuwlwl b hwplwpnigbypught 143056,8
hwpwpbpniayniiibp, wppwpht
hwpwpbpnipnibitibn 127356,8 15700
nnhg'
Opbuunpp L gnpdwnhp dwpdhutbp,wbnwlwl
s Ml HREE TR et 143056,8 127356,8 15700
aal o g 5 bhuwluwlwl b hwplwpyngbnwhu 0
hwpwpbpnuyeniibp 0 0
213) 01 1 3 |Upwnwpht hwpwpbpnieniutbn 0 0 0
2120] o1 2 0 |Upypwpht ppupbuwljwt oqunipynil 0 0 0
nphg' 0
2211 o 2 1 [Upwnwpht inunbuwlwl wewlgnipntu 0 0
a1l o 9 5 |Uhewaguiht uquwltipwnuyejniutitinh dhongny
npwdwnpynn nbnbuwlwl ogunieintu 0 0
2130 o1 3 0 |Cunhwump punyph Swauwnyaniibbp 8507 8507 0
nnhg'
Uzhuwunwlwqdh /ywnptiph/ gény punhwuniyp punygh
2131 01 3 1
Swnwnipnitbp 7357 7357 0
23| o 3 2 Opwgndwu b yhbwlwgpwlwl punhwunip 0
Swnuwnyeniuibip 0 0
2133] o1 3 3 JCunhwunin punyph wy| Swnwjnieniubn 1150 1150 0
40l o1 4 0 Ctnhwbnip punyph hbpuwqnipuwlwl wifuupubp 0 0 0
nphg'
anl o 4 ’ Cunhwunip punyph hbnwgnunwlwl woluwnwp 0 0 0
Clnhwnip punyph hwipughtl Swnwnypyniiibpp
21501 01 5 0 |gény hbpwqnipwlwts b bwfuwgéwht 0
wpluwipnwtiptiip 0 0
nnhg’
Cunhwunip punyph hwlpwjht Swnwjnieiniuttin gdny
21511 01 5 1 |hbnwgnunwlywt b bwhiwgdwiht woluwnwlptbp 0 0 0




2160

01

Cunhwbnip punyph hwbpughti Swnwynipyniibbp

25500

(wy nwubpht swuplywunn) 3500 22000
nnhg’
Cunhwunip punyph hwupwht dwnwjnieniutbn (w)
2161 01
uubiphY suywinluwtnn) 22300 3500 22000
2170 o1 Meypwlwl wwpipph gény gnpdwntinipyniiibip 0 0 0
nnhg’
2711 01 MEnwlwl wwpwnph gény gnpdwnunieniibp 0 0 0
Ywnwywpnipywl ppuppbp Jwlwppuwlbbph dhol
21801 o1 hpwlhwbwgynn pinhwbnp punyph 0
ppwtiudbpiptibp 0 0
nnhg'
Ywnwywpnipjwl nwppbp dwywpnwyubph dhol
2181 01 hpwlwbwgynn punhwunip punyph npwbubbpnutp 0 0 0
nphg’
2182 o1 - npwdwunphubip <& yhnwlwu pynigkht 0 0 0
283l o1 - npwdwunphubin << wy) hwdwjuptiph pngbubiphu 0 0
nsal o wn pynw’ Gplwuh hwdwpwnwpw)ht dwiuubiph 0 0 0
$Shuwbuwynpdwt hwdwp
55060 83 MUTSMULNRE3NRL 200 200 0
(1nnn2210+2220+wnn2230+w1nn2240+wnnn2250)
wn pyntd’
22101 02 Nwquwlwl ywypwwbniypnit 0 0 0
nphg'
21| 02 Mwqiwlwl ywunwwunygniu 0 0 0
2220] 02 Punupughwluwl wuwzypuwnipni 200 200 0
nphg'
22211 02 Lwnuwpwghwlwu wwwnwwuntp|ntu 200 200 0
2230 02 Upiypwphti nuquwljwl oguiniaynil 0 0 0
nphg'
2231 02 Upwnwpht nwqdwlwl oquniniu 0 0
<Gypwgnipwlwl b bwuwgduyhl wifuwpwliptibp
2240) 02 0 0
wuwywwbnipuwl npnpynud
nphg'
24| 02 Lhnwgnuuwlwu b bwhuwgdwiht wfuwwnwupubp 0 0 0
wwownwwunie(wlu ninpunnwd
nphg’
2250 02 Nuwppwwbniypinil (wy nwubpht sywpluwng) 0 0 0
nphg'
22511 02 Muwpunuwwunipnit (w) nwubpht swwnlwunn) 0 0 0
<cuvuruyuyuu wureg,
uLdsuuvenh@3nhL L HUSULUL
Sy = 9NPONKLLNRES3NRL 0 0 0
(wnnn2310+w1nnn2320+wnnn2330+wnnn2340+wnnn2350
+nnn2360+wnnn2370)
wjn pyntd’
2310 o3 Cwvwpwlwlwl Jupg b whyipwbgnipinil 0 0 0
nnhg'
2311] 03 Nuinhlwunieintu 0 0 0
2312] 03 Uqqujhtu wudnwugnigniu 0 0 0
2313 03 Mbwnwlwl wwhwwunznu 0 0 0
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2320 03 2 0 |Pplwpwp wnuwynipinit 0 0 0
nphg’
23211 03 2 1 |9Pplwpwp dwnwjnipintu 0 0 0
l b
2330l o3 3 0 TMtunpwljwlt gnpdmbibnipynit b ppwiwljw 0 0 0
wuwpwwlniyanil
nnhg'
2331 03 3 1 | twunwpwbltp 0 0 0
2332| 03 2 |Prwdwlwl wwaunywnienu 0 0 0
2340 03 4 0 | hwypwhuwgnipynits 0 0 0
nphg'
23411 03 4 1 |hwunwhuiwgniniu 0 0 0
2350| 03 5 0 |Ywwbwyuwipbp 0 0 0
nphg'
23511 03 5 1 |Mwwuwlwpbp 0 0 0
LGypwgnipwlwl nt bwfuwqbughll wypuwpwbptibp
2360 03 6 0 |hwuwpwlwlwl jupgh b whpwbignipuwh
ninpyinid 0 0 0
nphg'
<hnwgnuuwlw nt bwuwgdwiht woluwwnwpttin
2361 03 6 1 |hwuwpwlywywl Yupgh b wbdunwugnygjwl ninpuinad
0 0 0
270l 03 7 0 Cwuwpwlwlwl Yupg b whdpwbgnipnil (wy; 0 0 0
nwubipht syuwiplwting)
nphg'
231l o3 7 i Cwuwpwlwlwl Yupg b wiunwlgnignit (w) 0 0 0
nwubipht swwwnljwunn)
SLSEUULUL SUrurtrNh@3NhLLEN
2400 | 04 0 0 | (nnn2410+1nn2420+1nn2430+wnn2440+wnnn2450 |  54081,4 12450 41631,4
+nn2460+wnnn2470+wnnn2480+wnnn2490)
w)n pynud
2s10l 04 1 0 Cunhwunip punyph ppbuwlwl, waluppught b 0 0 0
wphuwipwph gény hwpwpbpnipinitiibp
nphg’
anl o4 ' ] Cunhwunip punyph nunbuwlwl b wnlnpwihu 0 0 0
hwpwpbipnipnutbn
242l 04 : 5 Upluwwnwuph hbwn Yuwywd punhwunip punyph 0 0
hwpwpbipnygniuubp
Ynunuiptupbunipynil, whpwnught (ptupbunipynit,
2420) 04 2 0
dhyinpunipynits U npunpnnainil 12150 12150 0
nnhg'
21| 04 2 1 [ninwintntunigeniu 150 150 0
2422 04 2 2 JUuunwnwiht inbintiunye)niu 0 0 0
2423 04 2 3 |QYunpunieyniu W npunpnuenLu 0 0 0
2424] 04 2 4 |Nnngnud 12000 12000 0
2430| 04 3 0 |Ywnbihp b kubipqbiphlyw 1500 0 1500
nnhg'
2431 04 3 1 JPwpwdniu b wy Yupdp puwlw Jwnbihp 0 0 0
2432] 04 3 2 |Lwypwdplipp b plwlwl quq 1500 0 1500
2433 o4 | 3 3 |Uhenijwiht dunbihp 0 0 0
2434] 04 3 4 |dwnbhph wyj| nbuwlubp 0 0 0
24351 04 3 5 |EEYwnpwiubpghw 0 0 0
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2436| 04 3 6 |Ns blblnpwywu tubinghw 0 0
sas0l o4 4 0 Lenbwwpnynibwhwbmd, wpyniiwpbpnipnit b 0 0
shbwpwpnipinil
nnhg'
saal o4 4 ] Qwupwjhu nbuntpuubph wpyniuwhwund, 0 0 0
pwgwnnipjwip puwywu Jwnbihph
2442] 04 4 2 |Upryniuwpbpnieniu 0 0 0
2443 04 4 3 |Chuwpwpnipniu 0 0 0
2450] o4 5 0 |Spwbuynpip 334800 300 334500
nnhg'
2451| 04 5 1 |Swlwywphwht npwluwnpn 334800 300 334500
2452 04 5 2 |2pwjhtu inpwluwynpn 0 0 0
2453] 04 5 3 |Eplweninwiht npwbuwnpun 0 0 0
2454] 04 5 4 |Onwjhu npwuuwnpun 0 0 0
2455) 04 5 5 |funnnyulwwpwhu b wy npwbuwnpun 0 0 0
2460 04 6 0 |bwy 0 0 0
nnhg'
2461| 04 6 1wy 0 0 0
24700 04 7 0 |UYy ptwquyunbbp 0 0 0
nnhg'
2anl o4 7 ] Ubdwodwfu b dwupwdwfu wnlnnp, wupwupubph 0 0 0
wwhwwunw b wwhbunwdnpnd
2479 04 ; 5 nipwungubip b hwuwpwlwlwb ubunh opyblwnutp 0 0 0
2473] 04 7 3 |2pnuwgngnientu 0 0 0
2474] 04 7 4 JRwpgugiwl pwqiwuwwwnwl dpwaptip 0 0 0
Supbuwlwl hwpwpbpnipynitibph gény
24801 04 8 0 |hbEpwgnpulwl b bwpwqgbwhty wipiwgpuwbptbp 0 0 0
nphg'
Cunhwunip punyph nunbuwlwy, wnlnpwiht b
24811 04 8 T Jwtuwwnwuph hwpgbiph gdny hbnwgnunwlwl L 0
bwhiwagdwiht woluwwnwupubp 0 0
§ninwintnbuniwl, wbnwnwjht inunbunyejwl,
2482 04 8 2 ad4unpuntpjwl b npunpnniejwlu gdny hbnwgnunwlwu 0
U bwhiwgdwiht wpluwwnwupubin 0 0
2483 04 8 3 Ydwnbihph U tubipgtinhlwih gény htinwgnunwywu b 0 0 0
Lwhiwagdwiht wohuwwnwupubn
LEnuwwprynibwhwudwl, wpnyniuwpbipnipjwu b
2484] 04 8 4 |ohuwpwpnipjwl gdny hbnwgnunwlw b 0
bwhiwagdw ht woluwwnwbpubin 0 0
sa85] 04 8 5 Spwuuwnpunh gdny hbnwgnuwlwb b bwhuwgdwihu 0 0 0
wotuwwnwupubp
2486] 04 8 6 Ywuwh gény hbnwgnuwlwu b bwhiwgdw)hu 0 0 0
woluwwnwupubin
2487 04 8 7 Uy puwqwywnutiph gény hbnwgnuwlwt U 0 0 0
Lwhiwgdwht woluwwnwlplubp
2490l 04 9 0 Stupbuwlwl hwpwpbpniypymiibp (wyp nuwubpht -294368.6 " ——
syuipluting) 3 '
nnhg’
Sunbuwlwu hwpwpbpngniubp (wy| nwubiphu
2491] 04 9 1 -294368.6
wuinluwting) s of 2943686
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crRuyU UhU4U3rp

2500 | 05 MUSSNULNRE@SNRL 183900 115000 68900
(ninn2510+wnnn2520+wnnn2530+wnnn2540+wnnn2550
+nnn2560)
wyr pyYnid’
2510] 05 Unpwhwtnid 183900 115000 68900
nphg'
51| 05 Unpwhwunud 183900 115000 68900
2520| 05 Ubnipwgpbph hbnwgnid 0 0 0
nphg’
25211 05 Ybnunweptinh hbnwgnud 0 0 0
2530| 05 Cpowluw dhgwduwyph wnpnipdwl nbd yuwpwp 0 0 0
npphg’
2531} 05 Cpowlw dhowiwjph wnunundwl nbd wwjpwn 0 0
2540l 05 bbbuwpwqluwquunipyul b punipjuwl 0 0
wuwywwbniypnil
nphg'
sal o5 Ybbuwpwqlwquunyzjw b punipjwl 0 0 0
wwonwwunientu
Cpowlw dhgwduwyph wuwpuwniypyul gény
2550] 05 h&pwqnipwlw b bwhwgéwht wifuuwgpwbpubp 0 0 0
nphg'
25511 05 Cpowlw dhgwiwiph wwunwywuniejwl qdny 0 0 0
hbnwgnunwliwb b bwhiwgdwht wotuwwnwupubp
560l o5 Cpgwlw dhgwiwph wwppuwingsyni (wy 0 0 5
nwubipht swuplywting)
nphg'
561 05 Cnowlw dhgwywiph wwaunwwlnye)nil (w)| nwubipht 0 0 0
swwnlwlinn)
pFLULUCLULUBPL ThLULrUPNR@3NRL
2500 | o6 b4 UNUNRLUL DUNUSNR@3NRL 324500 85000 239500
(1nnn3610+1nnn3620+w1nn3630+w1nn3640+wnnn3650
+nnn3660)
wjn pynud’
2610| 06 Puwlwpuwbuwght shtiwpwpnipnit 214500 85000 129500
nphg'
2611] 06 Puwlwpwuwiht 2huwpwpnipntu 214500 85000 129500
2620 06 Cwdwylipuwhtt qupqugnd 0 0 0
nphg'
2621 06 Cwdwjupwiht qupgugnud 0 0 0
2630] 06 Lpuwduwpwlwpwpnd 0 0 0
nnhg'
2631 06 Lpudwunwlwpwpnud 0 0 0
2640 06 Pnnngubph (niuwynpnid 110000 0 110000
nphg’
2641| 06 Pnnngutiph (nwwynpnud 110000 0 110000
Puwlwpwbwht zhiwpwpnipuwt b Yndnitiwg
26501 06 Swnuwynipymubbph gény hypwqnipuwlw b 0
bwhiwgdwiht wypiunpwbptibip 0 0

nphg'
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Puwlwpwlwihu shtiwpwpnipjwl b Undnitiwy

2651] 06 5 1 Jdwnwjniginiitiph gény hbtnwgnnwlwt b 0
Lwhiwgdwiht woluwwnwupubp 0 0
2660| 06 6 o |Plwhwpwbught shuwpwpniyput b hndniiwy
0
Swnwynipymbibibp (wy nwubpht swwplwting) 0 0
nnhg'
%61l 06 6 , Puwlwpwwhl shtiwpwpnipjwl b Yndndiw, 0
Swnwinueinitiitip (w)) nwubpht swwwnlwung) 0 0
UNnN1UMULNR@3NRL
2700 | 07 0 0 | (wnn2710+1nn2720+1nnn2730+nn2740+nnn2750 + 0 0 0
nnn2760)
win pynd’
710l o7 q 0 Pdywlywl wypwtiptbp, uwppbp U 0
uwppwynpmdubp 0 0
nphg'
2711 07 1 1 |"Hnwgnpdwlwl wypwplbp 0 0 0
2712 07 1 2 |U pd2lwlwl wuwypwupubp 0 0 0
213) 07 1 3 |Pd2hwlwl uwppbp bW uwppwynpnuiutip 0 0 0
2720 07 2 0 |Uppwhhjwbnwbnguyhti Swnwynipynitibp 0 0 0
nphg'
27211 07 2 1 |Cunhwunip punyph pdaljwlwl Swnwjniyeniitbp 0 0 0
2722 o7 2 2 |Vwubwghunwgywsd pdolwlwl dwnwjnipyniubin 0 0 0
2723 07 2 3 |Uunndwwninghwlwl dwnw)nipniibip 0 0 0
2724 07 2 4 | Nwpwpdrjwlwl dwnwnieniutbp 0 0 0
2730 07 3 0 |<hywbnwlnguyhti Swnwynipiniibip 0 0 0
nnhg'
731l o7 3 , Cunhwunip punyph hhjwunwungwhl 0 0 0
dwnwinuentubp
2739 07 3 5 Uwutwghunwgywsd hhjwunwungwjht 0 0 0
Swnwinueiniulibp
2733l o7 3 3 Pdolwlwu, dnp b Jwulwb YEuwnpnuubph 0 0 0
Sdwnwinupintulbp
uqu
2734 07 3 4 <hjwunh utwdph b wnnngnipjwl Ybpwlwugudwu 0 0 0
nuwhu dwnwinipintulbip
2740] 07 4 0 |fwbpuwiht wnnnowwwhwlwl Swnwnipynibibp 0 0 0
nphg'
2741y 07 4 ] Cwlpwjht wnnnowwwhwlwb dwnw)niezntiutp 0 0 0
Ul
2750 o7 5 0 Unnnowwwhnipywl gény hbpwqnipwljw 0 0
bwhuwqduyhti wyluwipwplbp
nphg'
L
751l o7 5 \ Unnnowwwhnipjwu gény hbunwgnunwljwu 0 0
Lwhiwgdwiht woluwwnwuplbn
2760 07 6 0 |Unnnowwwhnipynit (wy nuubpht swuipljuwting) 0 0
nphg'
uubip b
2761l o7 6 i Unnnowwwhwlwu hwpwlhg dwnwjnigyniutip 0 0 0
dpwaptip
2762] 07 6 2 |Unnnowuwwhnigynit (wy| nwubpht swywnljwunn) 0 0 0
<ULSYhUS, UTULUNK3ME Y urnu
2800 | o8 0 0 | (nnn2810+wnnn2820+wnnn2830+wnnn2840+wninn2850 39600 17800 21800
+unnn2860)
wyn pynd’
2810] o8 1 0 |<wbquiph b uynpph Swnwynipyniiibp 21100 1300 19800
nphg'
281| 08 1 1 |<wuguwnh b uynpunh dwnwyniejniulitip 21100 1300 19800
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20 08 | 2 | o |Vzwhnypuyht Sunuymemitibn 16500 14500 2000
nphg'
2821] 08 2 1 |Spwnwpwuutip 0 0
2822 08 2 2 |Pwuqwpwbubp b gnigwupwhubip 0 0 0
2823] 08 2 3 |Uawlnypeh wltip, wynupltip, YEunpnlutip 13000 11000 2000
2824] 08 2 4 |U dawlnuyawht Yuqdwlbpwnigniiutn 3500 3500 0
2825] 08 2 5  |Upytun 0 0 0
2826] 08 2 6 |Ypubdwunngpwdhw 0 0 0
2871 o8 9 5 Lnipwpdwuubph b Jawynypwihtu wpdbputph 0 0 0
Jbpwlwugund b wwhwwunwd
Mwnpn b hbnnwwgpwhwnnpnmdubph
2830] 08 3 0 |hbnwpdwldwl b hpuwpwpwlswljwt 500
Swnwnipntulbbn 500 0
nphg’
2831] 08 3 1 |Kbnnwunwnwnhnhwnnpnnuubp 0 0 0
2832] 08 3 2 |<pwwnwpuwlsnipiniuutp, fludpwgpnigyniubibip 500 500 0
2833] 08 3 3 |Stntwuynipjwt dbnpptipnid 0 0 0
240l o8 4 0 Upnbwlwl b hwuwpwlwlwl wy Swnwynipynibbp 1500 1500 0
nphg'
2841] 08 4 1 |Ephnwuwpnwlwl dpwgpbip 500 500 0
Lwnwpwljw Ynwwlygnyegnibubip, hwuwpwlwywu
28421 08 4 2 Ywqdwybpwneynwutip, wphdhnuygyniutbp 1000
1000 0
2843l 08 4 3 Ypnuwlwu b hwuwpwlwlwl wy| dwnwnipjniutbn 0 0 0
<wlquiph, Qulnyph b Yhpnth gény
28501 08 5 0 |hGypwgnipuwlhwlt b bwfuwgdwhl wifuwpwlptbp 0 0 0
nphg'
28511 o8 5 1 <wuqunh, dwlynyeh L Ypnuh godny hbnwgnunwlywu 0 0 0
U bwluwagdwihu wrhuwwnwupubin
2860l o8 6 0 Lwhghup, Jypwlnyp b Yhpnb (wy nuwubpht 0 0 0
swuwplywlinng)
nphg’
2861l 08 6 i Cwughuw, dwynye b Ypnb (w) nwubphl 0 0 0
swwinlwnn)
UPRNRR3NKL
2900 | 09 0 0 | (ninn2910+w1nn2920+wnnn2930+wnnn2940+w1nn2950 212633,6 209633,6 3000
+nnn2960+unnn2970+w1nn2980)
wyn pynud'
Lwpiwnupngulwl b qpuppwlwl punhwbnip
29101 09 1 0
Yppenipinil 148700 148700 0
nphg'
291| 09 1 1 [bwhiwnupngulwl Ypeniginu 148700 148700 0
2912 09 1 2 |Swppwlwu punhwunip Yppniegntu 0 0 0
2920 09 2 0 |Upstwlwpg punhwunip Yppnipynit 0 0 0
nphg'
2921] 09 2 1 |<hduwlwu punhwunp Ypenieniu 0 0 0
2922] 09 2 2 |Uhguwywng(iphd) punhwunip Yppnip)nil 0 0 0
Lwfubwlwl Jwubiwghypwlwl
2930 09 3 0 |(wphbupwgnpéwljwh) b dhohtt Jwubwghipwlwl 0 0 0

Ypnipintl

nphg'
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Luwfubwlwt Jwubwghnwlw (wphbiunwgnpdwljw)

29311 09
Uppnipntu 0 0 0
2932} 09 Uhgohtu dwubwghunwlwb Ypenip)niu 0 0 0
29400 09 Pwpdpwaqnyl Yppnipyni 2000 2000 0
nphg'
29411 09 Pwpapwagnyl dwubwghunwlwu Yppnipgntu 2000 2000 0
2942 09 Lbwnpnihwlwl Jwubwghnwlwb Ypeniyent 0 0 0
2950l 09 Cup dwlwpnuwlbiph snwuwlwpgynn Yppniypinit 61433.6 58433 6 3000
nnhg'
29511 09 Upunwnupngwlwl nuunhwpwlnipintu 61433,6 58433,6 3000
2952| 09 Lpwgnighg Yprenig)nil 0 0 0
2950l 09 Upnipjuwlp ppwdwnpynn odwunuwly 0
Swnwniyaintbibp 0 0
nphg
20611 09 Yppenipjwup wpwdwnpynn odwunwy 0 0 0
Swnwnuyznuubip
s970] 09 Uppnipjwl ninpypinid hypuwgnipwljw b 0 0
bwuwgdwiht wphiwpwlpbbp 0
nphg'
2971l 09 Ypenipjwl nnpuinud hbnwgnuwwt b bwhuwgdwjht 0 0 0
woluwwnwlpubip
2980] 09 Uppnipynil (wy nwubpht sywpluwinn) 500 500 0
nnhg'
2081| 09 “YpRniRNU (wj| nwubinhl swjwinljulnn) 500 500 0
UNShuLULYUL MUTSMULNRE3NRL
3000 | 10 (1inn3010+11nn3020+1nnn3030+w1nn3040+nnn3050| 11800 11800
+nnn3060+wnnn3070+wnnn3080+wnnn3090)
win pynut’
3010] 10 Huwnpwnnngnipynil b whwzfuwgpniiwlnipinit 1500 1500 0
nphg
son| 10 dwunwnnngnipiniy 1500 1500 0
3012) 10 Uuwpfuwwnniuwlynipiniu 0 0 0
3020] 10 Obpnupyntt 0 0 0
nphg'
30211 10 Obipnieniu 0 0 0
3030y 10 Swpwquphtt Ynpgpwd whdhlp 0 0 0
nphg'
30311 10 Lwpwquwwnht Ynpgpwsd wudhup 0 0 0
3040 10 Ctupwihph wonuwdtbp b quywlbbp 0 0 0
nphg'
30411 10 Cunwuhph wunwdubp b quywlutp 0 0 0
3050 10 Qnpdwqplnipynil 0 0 0
nnhg'
30511 10 Snpdwgpynip)niu 0 0 0
3060 10 Phwlwpwbwght wwwhnynid 0 0 0
nphg'
3061] 10 Puwlwpwlwiht wywhnynw 0 0 0
Unghwpwlwt hwyprnily wpgpnbnigynibbbp (wyy
30704 10
nuubpht swyupljuwting) 10300 10300 0
nphg'
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UnghwjwlwU hwwnnty wpunungyniutibp (wyy

30711 10
nuubphb swwwnlwunn) 10300 10300
Unghwjwlwl wwppuwwlnipyuwl ninpyinid
30801 10 hEpwqnipwlw b bwwqduyhty wyfuwpwtiptibp 0 0
nphg’
Unghwjwlwl wwunwwunigjwl ninpuinwd
3081| 10 0
hbnwgnunwlwu b bwhwgdwiht woluwnwupubp 0
nphg' 0
3090l 10 Unghwjwlwl wuwppuwwbnipyni (wy nwubppt 0
wuwiplwiing) 0
nnhg'
3091] 10 Unghwwlwb wwonwwunipntt (w)) nwubpht 0 U
Unghwjwlwl wwpunwwunigjwlp npwdwnpynn
3092 10 odwnuwl dwnwjnipniutibip (wy| nwubpht swwunlwunn) 0 0
- <hULUHUL PUIPLLENPL 2HUUYN 0 0
MULNRUSU3PL HSNULIEN (nnn3110)
w)n pyYnu’
3110 n <& wnwywpnipjuwt b hwdwiptbph 0
wwhnwpwihtt $nbin 0
nphg'
3] M &< hwdwjupubph wwhnwunwihtu $nun 0 0
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<US4uu 3

UCSUNUY ZUUUSULLP 2020 BYUNULN ABNRQER DURUGLLY' CUS R3NEESUSHL
OUNUErP SLSEUUSPSUUUL HYUUUYUL QU UL

(hwqup npwdutipny)

Rynigbinwjht Swhuubph nunbuwghnwlwh

w a
Sl nuwuwlwpgiwt hnndusubph Cunwdkup in ey
NN whwhnuubpp NN (u.5+u.6) | qupswlw | $nunwht
dwu dwu
1 2 3 -4 5 6
4600 CLHUUGBLE vUhlUGP
(1nnn4050+nnn5000+wnnn 6000) 1003778,8| 591247,4| 412531,4
w)n pynu’
u. etureushy ouuuer?
4050 | (1nnn4100+1nn4200+wnnn4300+nnn4400+wnnn4500+ X
tnnn4600-+tann4700) 591247,4|  591247,4 0
win pynud’ 0
4100 1.1. UChuusSuuLh durausrnih@3nhy .
(nnn4110+wnnn4120+wnnn4130) 93042 93042 X
w)n pynud
4110 UUNd dsurdni UChusSudurasr 64 "
LULELULBUPLEL (pnndl11+ypnndl12+ yinn4114) 93042 93042 X
nphg’ 0
4111 | -Uphuwwinnnubph wyiwunwywpsbp b hwybpwdtwptbp 4111 93042 93042 X
- Mwpqlwwpnudubp, ppuwdwlwy fupwfunwnwutp L hwnnd
4112 4112
Yéwpubp 0 0 X
4114 | -Uj| Jwpdwwnpnipyniuubp 4115 0 0 X
PLE1EL UChUSULUraEr b4 <UdGLUdBUrLED
4120 X
(tpnn4121) 0 0 X
nphg' 0
4121 | -Pubnbb wyiwwnwywpabp b hwybjwd6wpubp 4121 0 0 X
PUUSUSH UNSPULULUTL UNULNYNKR3UL 4BULrLEP
4130 X
(ynn4131) 0 0 X
nphg'
4131 | -Unghwjwlwb wuwhnynipjuwl J6wpbbp 4131 0 0 X
1.2. DUNU3NRE3NRLLEND B4 UNPULLLEN D Q6N
4200 |PGPNRU X
(1ninn4210+nn4220+wnnn4230+u1nn4240+wnnn4250+nnn4260) 47971,8 47971,8 X
wyr} pdoud
curnkuubyuLulL oukUEr
4210 | (ipnn4211+nn4212+4nnd213+pnn4214+nn4215+pnnd216+pnn4217) X
21516,8 21516,8 X
nphg’
4211 | -Snpéwnuwlwl b pwulwjht Swnwjnipyniubph dwhuubp 4211 0 0 X
4212 | -Fubpgbipply Swnwynipyniiibp 4212 19586,8 19587 X
4213 | -Undntbiw) Swnwynipnitibtp 4213 230 230 X
4214 | -Ywwh dwnwjnipyniuubp 4214 960 960 X
4215 | -Uywhnjwgpulwb dwhuubkp 4215 500 500 X
4216 | -Snyph L uwppwynpnudubph qupdwlwinipniu 4216 0 0 X
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4217 | -Upnwgbpwinbugwlwt Swhuubkp 4217 240 240 X
SNronNkINAULErh 64 SrUU3NKE3NALLENh
4220 X
OURUGE (inn4221+inn4222+inn4223) 100 100 X
nphg’
4221 | -Ukippht gnpéninnudubip 4221 100 100 X
4222 | -Upnwuwhdwywy gnpéninnufubiph gény dwhuubp 4222 0 0 X
4223 | -Uj| mpwbuwnpunwht dwhuukp 4229 0 0 X
MU3UULUSrushlL USL oUNU3NK@3NALLEPh 26NL
4230 PELrNhU "
(t(pnn4231+4yinnd232+pnn4233+inn4234+yinn4235+inn4236+pnn4237
+41nn4238) 6575 6575 X
nphg’
4231 | -dwpswlwb Swnwjnipniutbp 4231 225 225 X
4232 | -Cwdwlwpgswihti Swnwynipynitibp 4232 1150 1150 X
433 -Uhwwnwlwqdh dwutwghnwlwl qupqugdwy 4233
Swnwjnipiniuubp 100 100 X
4234 | -Sbnujwwnjwlwl dwnwjnipinitiibp 4234 900 900 X
4235 | -Ywnwywpswlwt Swnwjnipjniutbp 4235 0 0 X
4236 | - Ubugwnuwjhu b hwupwjht ubtinh Swawjnipniutitp 4236 0 0 X
4237 | -Lbpjwywgniggwlwl Swhuubp 4237 0 0 X
4238 | -Cunhwunip punyph w)| dwnwynipyniiubp 4239 4200 4200 X
U3L vuutuehsSuLUL ounu3nNhER3NRLLENP A6NL
4240 X
PEPNRU  (ipnn 4241) 3350 3350 X
nphg’
4241 | -Uwutwghnwlwl Swnwjnipjniutbp 4241 3350 3350 X
4950 LLRUSPY LNPNINKU b4 MULNULNAY (Swnwynipinitiibp §
b tynupalip) (pinn4251+yinn4252) 1620 1620 X
nphg'
-Chupbiph U wnnygubiph pupwghy unpngnid b wwhwwnug
4251 4251 0 0 X
4952 -Ubtipbuwubiph b uwppwynpnufubiph pipwghl unpngnud L 4252
wwhuwwunul 1620 1620 X
L3nhtr
4260 (t(pnn4261+ynn4262+pnn4263+inn4264+pnn4265+inn4266+pnn4267 X
+1nn4268) 14810 14810 X
nphg’
4261 | -Spwublywluwyht tynipbp L hwgnwn 4261 2450 2450 X
4262 | -Qyninuununbuwlwl wypwupubp 4262 0 0 X
4263 -dEpwywnpwundwl b nwunigdwt tynpbp (waliwnnnubph 4263
Ybpwwwwnpwuwnnud) 0 0 X
4264 | -Spwliuwnpuwht tynipbp 4264 7000 7000 X
4265 | -Cpgwlw dhowywph wwonwywlinipjwt b ghnwlwy ynyebp | 4265 0 0 X
4266 | -Unnnpwwwhwlwy U jwpnpwwnnp tynphp 4266 0 0 X
4267 | -Ubugwnwyht b hwipwht utiinh ynuyebp 4267 3060 3060 X
4268 | -Cwwnily byywinwlwyht wy) bynipbp 4269 2300 2300 X
4300 | 1.3. SnunuudsuUrLvEr (41nn4310+pnn 4320+1nn4330) X 0 0 X
w)n pynud’
4310 |LGMLPL SNUNUUYBUPLLEL (yinn4311+yinn4312) X 0 0 X
nphg’
4311 | -Lbppht wpdbpnpebph winlnuwywpubp 441 0 0 X
4312 | -Lbipphtt Juiplybiph winynuwytwpubp 4412 0 0] X
4320 |UPSULPL SNUNUULBUPUEP (qinnd321+qnna322) x 0 0 X

nphg'
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4321 | -Upwnwpht wpdtpnpebph qény ninynuwywpubp 4421 0 0 X
4322 | -Upwnwpht Jupltiph gény winfnuwywpibip 4422 0 0 X
4330 PNUMNKF3NALLE P <ES LUNYUD dBULrLED "
(tpnn4331+pnn4332+inn4333) 0 0 X
nphg'
4331 | -Pnjuwbwldwl Ynipubph pugwuwlw nwppbpnipniu 4431 0 0 X
4332 | -Snydtip 4432 0 0 X
4333 | -@nfuwnnipyniuiiph gény winppkp 4433 0 0 X
4400 [1.4. UNRPUPhULEN (nnnn4410+11nn4420) X 219133,6 219133,6 X
w)n pYnud’
i UNKPUPPULEr MESULUTL (KUUU3TLUSPL) .
LURUULEPMNREB3NARLLEPPL (yinn4411+ynn4412) 218133,6 218133,6 X
nphg’
oy -Unipupnhwtbp ng-$phuwtvwljw yhnwlw (hwdwjupwjht) 4511
Ywquiwlbpynip nitubpht 218133,6 218133,6 X
a2 -Unipupnhwibp $huwtvwlw wbnwlwy (hwdwjupuyht) 4512
Juquiwybpwnipyniiupht 0 0 X
4 UNKRUPPULEP NR MESULUL (N <UUUBLLU3AL) §
LURUUYEPMNRB3NRLLEPPL (ipnn4421+yinn4422) 1000 1000 X
nphg’
441 -Unipuhnhwtbp ng wEnwlwt (ng hwdwjupwhti) ng 4521
Ppuwbvwlw yuqiwlbpynipiniuubphu 1000 1000 X
-Unipuhnhwtbp ng yEnwlw (ng hwdwjupwh)
4422 4522
Phuwluwlwy Yuqiwlbpynipniuubpht 0 0 X
4500 1.5. ruvucunr{oer "
(tnnn4510+nn4520+wnnn4530+wnnn4540) 213500 213500 X
w)n pyYnuf”
4510 nruvueunr<uer osursrur3au "
LUMULUPrNhE@BNALLEPPU (ynnd511+pnn4512) 0 0 X
nphg’
4511 -Cupwghly npwdwgunphubip onwpbpynjw 4611
Ywnwywpnipintutbiphu 0 0 X
4512 -Ywyhwnw| npuwdwunphubp onwpbplpjw 4612
Ywnwywpnipnitibpht 0 0 X
4520 wruvucunr<ver UbRURYU3PL §
LGURAUULYEPMNRE@3NRLLEPPU (ipnn4521+1nn4522) 0 0 X
nphg’
451 -Cupwghy npwdwunphubp Jhowqgqu)hu 4621
Ywquiwlbpynipnitubpht 0 0 X
4522 -Ywuyhwnw| npwdwunphubp dhowqqujhu 4622
Ywquiwlbpynipiniuubph 0 0 X
4530 LCUEUShY HrUTUTLNNrLLEN MESULUL <USHUDP USL .
UuuurtyLErbhL (yinn4531+pnn4532+ynn4533) 201500 201500 X
nphg'
e Lupwghly npwdwunphubp wEnwlwu b hwdwjupubph ng 4637
wnbwnpwiht yuqiwybpwnipniuubpht 200500 200500 X
- Cupwghly npuwdwunphubp wbnwlwu b hwdwjupubph
4532 4638
wnbnpwiht yuqdwlybpyniypintuubphu 0 0 X
- U pupw wdwunphub (nin
133 453::';Ems4593l;q+::q Ey ' 4639 1000 1000 X
wyn pynu
534 |- nbnwlwu huptwlwnwypdwu dwpdhuubphu (tinn
4535+wnn 4536) 1000 1000 X
nphg'
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4535 | bplwth hwdwpwnwpwiht dwiuubiph $htuwbuwynpdw hwdwp 0 0 X
4536 |w)| hwdwjuputiphu 0 0 X
4537 | - << whwnwlwl pjnigthu 0 0 X
4538 | - wy 1000 1000 X
LUMbSUL HPUVUTLANrLLEN MESULUL <USHUDP USL
4540 X
UULUPrMIULEPPL (ynn454]+yinnd542+nn4543) 12000 12000 X
nphg’
-bwyhnw) ppwdwunphubp WyEnwlwy b hwdwiupubph ny
4541 4655
wnlwnpwiht yuqdwybpwynipiniuubkphu 0 0 X
-bwyhwnw) ppwdwunphubp WEnwlwy b hwdwjupubph
4542 4656
wnlunpwiht juqiwlbpwynipiniuubpht 0 0 X
-Uy) uwwyhww) npuwdwunphubp
e (innn 4544+wnnn 4547 +unnn 4548) i 12000 12000 X
wn pynul’
- mbnwlwu hupuwlwnwypdwl Jwpdhuubphu
4544
(inn 4545+nnn 4546) 0 0 X
nphg’ 0
4545 | bplwuh hwdwpwnwpwht dwiuubiph $htwtuwynpdwl hwdwp 0 0 X
4546 |<< wy| hwdwjuputiph 0 0 X
4547 | - << whnwlwu pjnigbihu 0 0 X
4548 | - wy 0 0 X
P 1.6. UNShULULUL LNUUSLEN 64 .
LsLUURNCUULED (yinn4610+4inn4630+yinn4640) 14600 14600 X
wjn pynu
4610 |UNSPULULUL UNULNYNA@3BUL LIUUSLEP 1500 1500 X
wyn pYnuwt’ 0
a0 |- Stwjht nunbunpynitubpht npwdny Jéwpynn
unghwjwywlt wwwhndnipiwt Jewpubp 4711 0 0 X
- Unghwjwljwt wywhnynipjw pubnbt twywuwmubp
4620
Swnwinipntuibp Jwwnnignnubpht 4712 1500 1500 X
unshrULULUL O9ULNAE3UL HUUULUL
4630 |UPSULUBSNR@BUUPR LNUUSLEr (P3NhAEPS) X
( (nnn4631+1nn4632+11nn4633+11nn4634) 13100 13100 X
nphg’
4631 | -Cniquplwynpnipjw tywuwntibp pnigtihg 4726 0 0 X
4632 -Uppwlwl, Gwlynipwiht b uynpuwiht bywuwntbp pjnigkhg 4727 g 5 .
4633 | -Pbwlwpwbwiht bywuwnbp pjnigkihg 4728 0 0 X
4634 | -Uj| uyywuwnbip pjnighihg 4729 13100 13100 X
4640 | LELUURNTCULLED (pnn4641) X 0 0 X
nphg’
4641 | -Ubtuwpenywlubp 4741 0 0 X
1.7. USL bukuUEr
4700 |(ynn4710+pnn4720+nnn4730+ynn4740+ynn4750+pnn4760+pnn4770 X
) 3000 3000 0
wjn pynul
LYPLUSUNRE@BNALLEN NR LUMUYUNrULUL
4710 (cuuvurubuyut) buUuULErMNAER3NALLENLL X
(ypnn4711+ynn4712) 500 500 X

nphg’
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- Stwht munbunipynitibph Swnwjnipynitubp Jwwnnignn’

4711 |awhnyp shbnwwunnn uqdwlbpynip)niuubpht 4811
udhpwinynipyniutitp 0 0 X
- -Lyhpwnynipyniuubp wy) gwhnyp shbnwwunnn 4819
Yuqiwybpynieniuubpht 500 500 X
<urger, mUPrSUthr dsuruver 64 SNh3d6r, NrNue
LUMAI4Urvuy surePesr vuuurtuyvere unaUPS
4720 \upPUMNINKU 6L UPUBULS LUUSUUUPR X
(t(nnn4721+nnn4722+pnn4723+ynn4724)
2500 2500 X
nphg'
4721 | -Upuwwnwywpsh $nun 4821 0 0 X
4722 | -Uy hwpykp 4822 0 0 X
4723 | -Mwpwnwnhp Ewpubp 4823 2500 2500 X
-MEnwlywi hwinjwsh nmwppbp dwliwpnwlubph Ynndhg
4724 4824
dhdjwtg tjwwdwdp Yphpwnydnn ninydbp 0 0 X
4730 HISUrULLErh UNUPS LEULULYUD SNh3dEr bY .
SNRYULLLE (pnn4731) 0 0 X
nphg’
4731 -‘hwinwpwtubiph Ynndhg Lpwtwlyws wninydtp L inniquiiplibip 4831 o : v
PLULUL UTESLErhS 4UU USL PLULUL
4740 | MUSBUNUELNY UNURUSUD 4LUULErh YUU X
HLUUHUDLLErh d6rULULIUNRU (innd741+ppnn4742) 0 0 X
nphg'
= -Puwlwl wnbnubphg wnwowgws Juwuwspubph Ywd
4741 4841
Juwubbph Jbpwlwugunid 0 0 X
-Uj| pwlwl ywntwnubpny unwgws Juwuwspubph
42 Ybpwlwigunud 1642 0 0 X
LUuMu4uUruut vurupLuere NroNkLENRI3UL
4750 |<K6SEUULLNY UNURUSUD dLUULE P YUU X
HLUUHUTLLE P dEPUYULIULNRY (1pnn4751) 0 0 X
nphg’
“Ywnwywpdwy Jwpdhuubph gnpénitibniewl hbnlwupny
4751 |wnwowgwd Juwudwsépubph Ywd Juwutibph Jipwlwuqumd | 4851
0 0 X
4760 | UBL OUlUGLr (ipnn4761) X 0 0 X
nphg'
4761 | -Uy) dwuukp 4861 0 0 X
4770 | MULNARUSUBPL UPRNSLE (ipnn4d771) X 0
nphg'
4771 | -“Mwhnwwnwjht Shengubp 4891 0
wjn pynud” hwdwjuph pynigbh Jupswlwy dwuh
4772 |wwhnwwnwiht $nunhg $nunwihts dwu Yuwinwpynn X
hwuinlwgnuiubp 0 0 0
F. N HhLULUULUL ULShYLErh GONY
5000 oukluutr X 706900
(1nnS3100+w1nn5200+wnnn5300+wnnn5400) 706900
w)n pyYnw’
5100 1.1. <hULuuuL UbpRNSLEN "
(1nnn5110+nnn5120+1nnn5130) 706900 706900
wn pynid’ 0
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CELLEN 64 ThLNREB3NALLED

SN0 | 5111 mnSi12+mn5113) X 587900 X 587900
nphg’
5111 | - Thupkph b 2hunipyniuiiph dbkinp pbpnud 5111 5700 X 5700
5112 | - Thuptiph U phunipyniiibph 2htwpwpnip)niu 5112 1400 X 1400
5113 | - Thupbph U phunipyniiibph Ywuwhww| Jepwunpngnid 5113 580800 X 580800
UBesLULEr 64 uurLeudnraruLEr
5120 5121+ yinn5122+nn5123 X X
e 95900 95900
nphg’
5121 | - Spwbuynpuiwjht uwppwynpnudubip 5121 70900 X 70900
5122 | - dwpswlwl uwppwynpnifubp 5122 3000 X 3000
5123 | - W dEpbuwubp b uwppwynpnudutp 5129 22000 X 22000
U3L <hULULUL UhRNSLEr
5130 |(iinn 5131+ynn 5132+ann 5133+ (pnn5134) X X
23100 23100
nphg’
5131 | -U6kgynn wywnhdubp 5131 0 X 0
5132 | - Ny yympwlwl hhduwlwl shongubp 5132 0 X 0
5133 | - Ynnbqhwlwl pupnbqugpulwy Swiuubp 5133 0 X 0
5134 | - bwpiwgéwhbnwqnuinwlwt Swhuubp 5134 23100 X 23100
1.2. MUTULrLEP (ipnn5211+pnn52214+pnn5231+ypnn5241)
5200 "
0 X 0
w)n pyYnuf’
son |~ Cwdwjupwjht tywbwlnipjwl nwqiwdwpwlw wwowptubp | 5211
0 X 0
5221 | - Uympbp b wpwquubp 5221 0 X 0
5031 |- dbpwywtwnph hwiwp bwhwnbudwsé wypwiputp 5231
0 X 0
5241 | -Uywndwt bywunwlny wwhynn wwywpubp 5241 0 X 0
5300 |1.3. PUrQrurd6L U4ShduEr (yng 5311 X 0 X 0
w)n pynul’
5311 | -Pwpdpwpdtip wlywhyubp 5311 0 X 0
5400 1.4. QUPSUMHUD UUSPUULEP  (yinn 5411+ynn 542140
5431+nn5441) § 0 X 0
w)n pynuf
5411 | -Cnn 5411 0 X 0
5421 | -Cunbppuwjhtt wlnhdubp 5421 0 X 0
5431 | -Uy) puwlwl swgmd niubignn wynhyubp 5431 0 X 0
5441 | -Ng tynipwlwl swpnwnpdwé wlhnhdubp 5441 0 X 0
%. N HhLULUULUL U4ShYLErh
hPUSNRUS UNKSLEN
6000 (wnnn6100+w1nn6200+nn6300+nn6400) X -294368,6 -294368,6
w)r} pYnut’
6100 11.1. <hULULUL UPRNSLENh hPUSNRU LS UNKSLEN
(nnn6110+1nn6120+nn6130) 3 0 0
wjn pynu' 0
6110 futveurd Nh3Lh hruSnNhUhrS UNhSLEN 8111 0 0
6120 |eUurqduuut ¥Nh3LH hruSnNhU S UNhSLEN 8121 0 0
6130 |USL <hPULULUL UhRNSLENh hPrUSNKU LS UNKSLEN 8131 0 0
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6200

1.2. MUTUrLErPh PPUSNRUPS UNKSLEN

(nnn6210+wnnn6220) 0 0
wyn pynu’
6210 HURUU4Uru4utL <UUU3LLU3rL mueurvere 8211
hrUSNhUPS UNKSREP 0 0
5 usL mueurverer brusnhrUr8 UNhSLEr
Bl (pnn6221+nn6222+inn6223) X 0 0
nphg'
6221 | - Upwnwnpwlwl wwywpubph hpwgnuihg dnunpkp 8221 0 0
8222
6222 | - dbpwywtwnph hwdwp wypwupubph hpwgnuihg dnunpbp 0 0
— Uywndwt hwiwp bwhiwnbujws ywiwpubph hpwgnuihg 8223
Ununptip 0 0]
1.3. RUrQrurd6L U4Shdutrh hPUSNKULS
6300
UNRSEEP  (inn 6310) X 0 0
wyn pynd’
6310 |PUrAPUrdEL UUShdLErP brUSNKU LS UNKSLED 8311 0 0
1.4. 2QUrsuMr4duo UuShJdLErh PPUSNRURS
6400 |[UNKSLEN' X
(1inn6410+1nnn6420+1nnn6430+nnn6440) -294368,6 -294368,6
W, P
6410 |<N2h hPUSNKRUPS UNKSLEN 8411 -294368,6 -294368,6
6420 |OSULUPr LULUDNLE P PPUSNKU LS UNKSLEN 8412 0 0
6430 U3L PLULUTL DUSNKU NRLESNT <PULULUL 8413
UhRNSLErh hr8NhUhS UNKSLEN 0 0
&4l N2 L3NKRULUL 2ULrSUMNHUD U4YSPULELP
hPUSNRUPS UNKSLLDP 8414 0 0
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<Uus4Uv 4

<UUU3LLh P3NRRGP UbRNSLENP SUMEYEMrRh <UJdGLARTDC HYUU

HEHhShSE (MULUUUNRNTL)

(hwqup npwdutipny)

Snnh Cunwdblp wyrp pynud
NN (u.4+u.5) Juwpswlw $nunuwyht
Jwu Jwu
1 2 3 4 5
LLHULUGBLE SUdGLNRMAC YUU
8000 HHPShSC (MUUUUNRNAL) -127573,1 -2366,6 -125206,5
2US4U0 5

<UUU3LLP P3NRREL <UYELNRCYP OGSUSNPOUUL NRLNRE3NRLLENE WUU
H6HP8hSh (MULUUNKRLTP) ShLULUUYNCUUL UIR3NRPLENE

(hwqwp npwdutipny)

Pjngbitnwht dwjuubph nwunbuwghnwjw nuuwlwpgdwt 5
Snnh hnnwadubph Cunwdbup wyn Rynt
NN wujwundubpp NN (u.5+u.6) Jupswlwl dwu $nberu:‘jhb
1 2 3 4 5 6
CLHUUGLE
(ninn 8100+winn 8200), (ninn 8000 hwlwnwl
8010 Upwund) 1275731 2366,6/ 125206,5
wjn pyYnud
u. LeMrepL Ur3NhrLEN
8100 (ninn 8110+winn 8160), (ninn 8010 - tinn 8200) 127573,1 2366,6 125206,5
wyr Ynul’
sio |- PARUMNR UPRNSLE! 0
(tpnn 8111+ynn 8120)
wyn} pynud’
1.1. Updbpenpebp (pwugwnnipjudp
8111 |pwdubwnndubph b uwhwnwnud wy X
dwutiwlgnipywi) (nnn 8112+ wninn 8113) 0
nphg'
8112 | - pnnuplnidhg b ppbnwpwpfunidhg dnuppbp 9111 X 0
813 | - hhdbwlwbl gmidwph Jwpnid 6111 X 0
e 1.2. dwplybp b hnfuwwnydnipyniuubp (unwgnud b
dwpnud)  (nnn 8121+wnn8140) 0
wjn pyYnu
8121 |1.2.1. dwplbp (nnn 8122+ wninn 8130) X 0
nphg'
8122 | - duplbiph uqpwgnud (iypnn 8123+ ypnn 8124) St & 0
nphg'’
8123 |wbywlwt pnipbhg X 0
8124 |wj wnpnipbiliphg X 0
- upugywd Juplhbph hhdbvwlwl gmidwph 6112 X
8130 |dwpmd (yppnn 8131+ yinn 8132) 0
nphg'
8131 | << whbypwljwl pinigbhl X 0
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Snnh
NN

Pynigbnwyht Swhuubph nunbuwghnwlywl nwuwjwpgqdwl

hnnquéubph

wudwunuubpp

NN

Cunwdbkup
(u.5+u.6)

wyn pynud’

Jupswlwl Jwu

$nunuwjht
Jwu

2

5

6

8132

wj| wnpnipblipht

X

8140

1.2.2. @nfuwpynipyniiip  (ipnn 8141+ yinn
8150)

nphg'

8141

- pymgliipuihts shnfuwpynipymibilph upuignid
(tpnn 8142+ pnn 8143)

9112

nphg’

8142

<L ybpwlwb pinigbhg

o

8143

<< wyp hwdwyipiliph pinitiiliphg

8150

- utpwgywd thnfuwpynipymiiubph gnudwph
dwpmd  (ynn 8151+ tpnn 8152)

6112

nphg’

8151

<& wbpwlwl pinigbhl

o

8152

<< wyp hwduyiptliph pnigtiiliphtu

8160

7 SRCUCUUGUT UGSRIGET
(tnnn8161+y1nn8170+nnn8190-
y1nn8197+nn8198+1pnn8199)

127573,1

2366,6

125206,5

wjn pynu’

8161

7.1, FwduGnndubp U quyhuwnud wy)
dwutiwlygnipini (ninn 8162+ winn 8163 + winn
8164)

nphg’

8162

~hwdwbpuyht ubhwlwnipjwl
pwdbbipndubipp b juwhypuwnd hwdwjtiph
Jwubwlgnipyuwt hpwgnihg dnuppbn

9213

8163

- hpwywpwbwlwl wbdwbg Yubnbwnpwlwt
Yuwwhypwind whpwlwl Jwubwlgnieywi,
whpwlwt ubthwlwbnipynit hwbnhuwgnn
whipwpd gnyph (pwgunnyejwdp hnntiph), win
pynud’ whwdwpip phtiwpwpnyejwl opbljipptibph
Jwubiwynplignidpg wnwowgwé Jhongllinhg
hwiwjbph pnigl dwuhwlnwhg Jnuppbip

9213

8164

- pwdbbypndubn U Guwhypwinu wy
Jwubiwlgnygymt dtnpptipnid

6213

8170

2.2. ©njuwwnynipynitibp (1inn 8171+ winn 8172)

nphg'

8171

- bwpuypnd ppwdwnpyws
thnfuwipynyeyniiliiph nhdwg uywgynn
dwpnwuliphg Unuppbp

9212

8172

- thnpuwpnypynibiiliph pppwdwnpnid

6212

(=] =}

8190

2.3. Cwiwjuph pynghh Shgngubiph nwpbkulqph
wquwn duwgnpnp’ (nnn 8191+wnn

8194-innn 8193)

1275731

2366,6

125206,5

8191

wyn pynuf

2.3.1. Cwdwjuph pynigbih upswlwu dwuh
Jhongubtiph wwpbuygph wqww duwgnpn

9320

8192

nphg
= Ghpwlhw E ninndwl hwdwjlph pinigbh

Yuwpswlwb Jwuhg bwfunpn qupnd
bhtwbuwnplwb bbpwlw, uwluyb

shhbwbuwynpywé'wnlw wwpipwynpnyeniuiph

Yuipwpdwlp

2366,6

2366,6
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Snnh
NN

Pjnigbunwht dwiuubph nunbuwghnwlywl nwuwlwpgqdwu

hnnquwdéubph

wujwunufubpp

NN

Cunwdbkup
(u.5+u.6)

wyr} pynud’

Jupswlwl dwu

$nunwyhu

dwu

2

5

6

8193

- Gupwlw E ninnuwb hwdwybiph pjniobh
dntinuypti Jwu (tpnn 8191 - (pnn 8192)

0

0

X

8194

2.3.2. Lwdwyuph pynigbh $nunwiht dwuh
dhgngubiph tnwpbulygph duwgnpn (wnn 8195 +
wninn 8196)

9330

125206,5

125206,5

nphg'

8195

- wnwbg Jupswlwl Jwuph Jhengubph

yupbuliqph wquiyp dbwgnpnhg pntinuypt dwu
dnuppwgpdwt bupwlw gnidwph

91195,7

8196

- Yuwpswlwl dwup dhgngllinh yrupbuliqph
wqun Jbwgnpnhg pntinuyhte Jwu
dnuppwgnpdwl Gupwlw gnidwpp (ypnn 8193)

34010,8

8197

2.4, Cwdwjuph pynigkh $nunwjht dwuh
dwdwbwlwynp wquuwn dhengubph
npwdwnpnd Jupswlwy Jwu

8198

2.5. Qwdwjuph pynigkh $nunuwjhtt Swuh
dwdwbwlwynp wquwn dhongubphg Jupswlw
dwu npwdwnpyws Jhongubiph ybpwnwps
dnunwiht Jwu

8199

2.6. Cwdwjuph pynigkh hwyynud dhgngubiph
duwgnprubpp hwybunn
dwdwbtwlwhwwndwsnd (nnn8010- tninn 8110 -
wnnn 8161 - tinn 8170- innn 8190- wnnnn 8197- wninn
8198 - wnnn 8210)

8199w

nphg' dwiuubiph phtiwbiuvwynpdwbp sninnywés
hwduwyliph pniglip dhgnglbiph yrwpbuliqph wquup
Jbwgnpnh gnidwnpn

8200

. UPSULHhL UNP3NRPLEN
8210)

(i

wjr} pYnud’

8210

1. @NuUMh UbRNSLEN
(tpnn 8211+pnn 8220)

wyny pynud”

8211

1.1. Updtpnpetp (pwgwnnipjudp
pwdubnndubph b uuyhunwnud wy

Jwubiwlgnipjwt) (nnn 8212+ winn 8213)

nphg'

8212

- pnnuipynidhg b pbnwpuipfunidhg dnupplbip

9121

8213

- hhduwlwt gnidwpph Jwpnid

6121

8220

1.2. dwplybp b hnfuwwnydnipynitubp (unwgnud b
dwpnud) (nnn
8221+wnn 8240)

w)n pyYnwd’

8221

1.2.1. dwplbp (nnn 8222+ nnn 8230)

nphg'

8222

- Yuplbiph uyrwgnut

9122

8230

- upugyws Juplph hhdbwlwt gnidwpp
Jwpmd

6122

8240

1.2.2. @nfjuwwnynipyniuubp (nnn 8241+ wninn
8250)

nphg’

8241

- thnpuwnynipnibiph uywgnid

9122

8250

- upuigdwd thnpuwpynipyniiiliph gnidwph
dJwpnid

6122
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<US4UU 6

ucsSuNuy 2zuuusuLk 2020 BYUN4ULP A3NRAGP DUNUGIL' CUS A3NERESUSHPL DUNUENP

GNrouNuUyUL B9 SLSEUUAPSUYUL HTUUUYUL QU UL

(hwqup npwdubpny)

Pynwbunwihtu dwhuubph gnpéwnwlw wyn pynud’
g % =) 3 nwuwlwpqiwl pwdhtiubph, judpbph L Cunwdtup
:':‘h & _5 ¢ | nwubph, puswybu bwl pynigbwnwiht Swiuubiph (u.7 +u.8) Jupswlwy dwu | $nunwihtt Jwu
nunbuwghnwljwi nwuwlwpgdwu
1 2 3 4 5 6 7 8
cLHuUeELL ouhuer
2000 X X X (1nnn2100+1nn2200+wnnn2300+w1nn2400+w1nnn2500+ 1003778.8 591247.4 412531.4
nnn2600+ : ’ ’
nnn2700+wnnn2800+wnnn2900+wnn3000+w1nn3100)
CLHULNR PLNR3M@P ULMPUSHL
200 | o | o | o QUMUK SNNLLLR 177063,8 | 139363,8 | 37700
(1nn2110+1nnN2120+1nn2130+w1nn2140+w1nn2150+wn
nn2160+wnnn2170+wnnn2180)
wun U’
OpGuunpp b gnpéwnpp dwpdpbibbp, wbgpwlwl
2110 o1 1 0 |Yywnwywpnd, phwbuwlwt b
hwpljwpyniglipuyht hwpwpbpnizniiibp, 143056,8 127356,8 15700
nnha'
an| o 1 1 143056,8 127356,8 15700
wjn pyYnud dwhuubiph Yapdwunwp' puwn pjnighnuwght
Sdwhuubph nunbuwghnwlwl nwuwlwpgdwt
hnluBibrih 143056,8 127356,8 15700
-UWhiwwnnnubph wluwwnwupsbp b
hwybjwy6wptbp 86400 86400 0
-Fubpqliphy Swnuwynipyniitibp 19366,8 19366,8 0
-Undniuw) Swnwynipyniiubp 230 230 0
-Uwwh dwnwjnipyniutp 900 900 0
-Unyuwhndugpuluwl dwhiubp 500 500 0
-Upunwgbpwnbugwlw swhuukp 0 0 0
-Ubnpht gnpéninnudutin 100 100 0
-dwpswlwl swnwnipniutibp 200 200 0
-Stnwlwnwlwl wnwjnipyniuubp 400 400 0
-Vwutwghnwlwl dwawnipniuubp 200 200 0
-Lbplwjwgnigswlwt dwhuubp 0 0 0
-Cunhwunip punyph w)| dwawnipyniuubp 1000 1000 0
-Upnwuwhdwlywl gnpdninniusubiph qény swhuubp 0
0 0
-Uhuwwnwlhwqih Swutwghnwlwl qupguglwl
Swnwnip|ntbubp 100 100 0
-Ubpbuwubph b uwppwynpnuiubph pupwghly
unpngnud b wywhujwinud 1500 1500 0
-Gpwubtywlwiht tynipbp b hwgniun 2400 2400 0
-Spwbuynpunwiht Uyniplp 7000 7000 0
-Ublgunujht b hwipwht utiunh Yynietip 3060 3060 0
-Ywnwywpgwlwl Swnwynipnititbp 0 0 0
-Cwwnnty bywnwlwihb wy bympbp 1500 1500 0
-Muwpuwnhp Jéwpubp 2500 2500 0
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Pingbnwht Swiuubiph gnpéwnwlw

wyn pYnut’

{snnp % 5 g nwuwlwpqdwl pwdhuubph, udpbph b Cunwdbup
n -~
N':l & _s & | nwubph, pugwbu bwl pynigbnw)ht Swiuubph (u.7 +u.8) Jupswlwt dwu | $ntinuihts Jwu
nunbuwghnwlwl puwuwlwpgdwl
1 2 3 4 5 6 7 8
- Chupbiph L 2htuinipyniiubph uuwhunw
yEpwunpngnud 5000 0 5000
- Ywpswlwl vwppwynpnuiubp 3000 0 3000
- Spwiuynpuiwht uwppwynpnuiutp 2000 0 2000
~Thupknh U Jhlnueyniblph abng phpnud 5700 0 5700
a6 ] 5 Shuwtuwlwu b hwplwpngbunwht 0 0 0
hwpwpbpnipniubp
w)r pUnd dwiuubiph Yapdwunwip' pun pjnigbiniwiht
Sdwuubph nunbuwghunwlwl nuuwlwpgdwu
hnnuwstbinh 0 0 0
PALK] 0) 1 3 |Upwwpht hwpwpbpnyeniiubn 0 0 0
wyn pYnid dwluubph Yepdwunuip' pun pnigbitnwght
Sdwhuubiph nunbuwghwnwlwl nwuwlwpgdwu
hnnJwdubph 0 0 0
2120/ o1 2 o |Unyrwpht ptpbuwlwl oglinipynit 0 0 0
nnha'
2121 O 2 1 JUpunwpht nbnbuwlwl wowlgnipniu 0 0 0
wyn pUnw dwiuubph yepdwunwdp’ pun pjnigbiviwhu
Sdwhuubiph ntnbuwghunwlwl nwuwlwnpgdwu
hnnywsltiph 0 0 0
Uhgwaqujht juquwlbpwniejniiiiph dhengny
21221 01 2 2 |vpwdwnpynn nmunbuwlwl oqunipintu
0 0 0
wyn pYnw dwiuubph depdwundp' putn pjngbinwihtu
Sdwhuubiph nmunbuwghnwwl nwuwlwpgdwu
hnndwdtinh 0 0 0
2130 o1 3 o |Cunhwump punyph dwnuyniypyniiibp 8507 8507 0
nnha'
Uptuwwnwlwaqdh /ywnpbph/ gdny punhwunip punyeh
2131 01 3 1
Sdwnuwinip|ntuibp 7357 7357 0
wyn pYnud dwiuubph Yopdwunuwip' pun pnigbiviwght
Sdwhuubph nuwnbuwghnwwl nwuwlwpgdwl
hnndwdubiph 7357 7357 0
-Ufuwwmnnnubph woluwwnmwywpabp b
hwbjwy6wpubp 6642 6642
-Ubpbuwubph b vwppwynpnuiubiph pipwghly
unpngnud b wwhuwtnud 120 120
-Upunuwgbpwnbugwljwl dwhuubp 240 240
-Spwubbywluwyh Ynipbp b hwgnn 50 50
~Qunnil byywinwljwyh wy Uynypbp 0 0
-kubpglaphly Swnuwynipyniitibp 220 220
-dwpswlwl dwnwjnipjniiubp 25 25
-bwyh Swnwynipyniuutp 60 60
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Pyngbnwjht Swiuubph gnpéwnwljwh

w)n pynul’

| F—- % 5 3 nwuwlwpqiwy pwdhtubph, judpbph L Cunwikup
Nrr: & _s ¢ | nwubph, hugybu bwb pyngbnwht Swhuubiph (u.7 +u.8) Juwpswlhwh dwu | $nuinuiht dwu
nunbuwghunwlwl nwuwlwpgdwu
1 2 3 4 5 6 7 8
2132 O 3 2 Jopwgpdwu b hbdwlwgpwlwl punhwung 0 0 0
w)n pynu dwfuubiph Ybpdwunuwip' punn pjnigbiniwiht
dwhuubph nunbuwghnwlwy nuuwlwpgdwl
hnnywstbinh 0 0 0
2133 0 3 3 |Cunhwunip punyph w)| dwnwjnipnititiin 1150 1150 0
wyn rynw dwhuubiph Ybpdwunwip' pun pjnigbinwh
Swhuubph ntnbuwghnwlwl pwuwlwpgqdwl
hnliudbih 1150 1150 0
-Cwidwlwngswih Swawjnipjnititbp 1150 1150 0
2140| o1 4 0 |Cunhwunmp punyph hbpuwqnpulul wyfuwgputp 0 0 0
nnha'
aal o 4 1 Cunhwunin punyph hbnwgnuwlwt wotuwnwlp 0 0 0
wyn pyYnud dwiuubiph YEpdwlndp' puwn pynigbiniwht
Swhuubiph nunbuwghunwlwt nwuwlwpgdwl
hnnuwdttinh 0 0 0
55l & 0 Cunhwunip punyph hwbpught dwnwnyzymtiibph
? qony hbqpwqnipwlwt b bwfuwgduhl 0 0 0
nnha'
Cunhwunip punyph hwupwjht dwnwjnyejniiibn
2151 01 5 I |gony htnwgnunuwlwt b bwhiwgdwht
woluwwnwlplbn 0 0 0
wyn pYnw dwhuubiph Ybpdwlnudp' puwn pynigbinwht
Swhuubiph nnbuwghnwlwl nwuwlwpgdwl
hnnywslitinh 0 0 0
- bwhiwgéwhbnwqnuuwlwt swhubp 0 0 0
Cunhwbnip punyph hwbpught Swawnyzyniiibp
2160
R e 25500 3500 22000
nnha'
261 o 6 , Cunhwunip punyph hwlpwjhl Swnwjnuyeniutiin (w);
w)n pYnud dwhuubph Yepdwunwdp' pun pjnigbiviwht
Sdwhuubph nunbuwghnwlwl nwuwlwpgdwy
hnnuwatbnh 25500 3500 22000
-Uwutwghnwlwl dwawjnipnitubp 3000 3000 0
- Cupwghl npwdwitnphubp wbwnwlwy L
hwiwjupubph ng wnlinpuyht
Juwqlwlbpynipnitubpht 0 0
-SEnwlwwndwlwl dwnwjnipniutibp 0 0
-Lhpwwnynipyniutbp wy) gwhnyp shbnwwtinnn
Juwqiwlbpynipiniuubph 500 500 0
-Spwubtjwlwh ynipbp L hwgniun 0 0 0
-Cunhwunip punyph w)| Swnwjnipjnitiutp 0 0 0
-Mwpunwnhp 6wpubp 0 0 0
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Pynbunwphu dwhubph gnpdwnwlwu w)n pynd'
3
| = 5 3 nwuwlwpgdwu pwdhuubiph, fudpbph b Cunwdkup
Snnp | B = 3
NN & 2 & | nwubph, hugybu bwlb pynigbwwhu dwiuubph (u.7 +u.8) Jupswlwl dwu | nuinwiht Jwu
nunbuwghnwlwt nwuwlwpgdwu
1 2 3 4 5 6 7 8
- Chupbiph L htuinipynitubph &bnp ppnud 0 0 0
- Thupkiph L 2hunipyniubph Yuwuhwuwy
YEpwunpngnud 0 0 0
- Lwhiwgéwhbunwgnunwlw dwluubp 0 0 0
- Spwbuwynpunwht uwppwynpnuubp 0 0 0
Uy dbpbwbbn b uwppwinpnuduby 22000 0 22000
- Ywpswlwb vwppwynpnidubp 0 0 0
2170 01 7 0 |MEypwlhwl wwpipph qény gnpdwnnipiniibbp 0 0 0
nphg’
2711 01 7 1 |Mbnwlwl wwpwnph gény gnpdwnuniygyniiibip 0 0 0
wyn pYnw dwiuubph ybpdwunwip' pun pjnigbnwiht
Sdwhuubiph wunbuwghnwlwt nwuwywpgdwu
hnnywadtbiph 0 0 0
a0l o1 a b bwnwywpnipjwl pwppbp dwlwpnwlubph Jhol
hpwlwtwgynn pinhwtmp punyph 0 0 0
nnha'
Ywnwwpnipjwl nwppbp Jwlwpnwlubph dhol
2181 01 8 1 |hpwlwbwgynn punhwunip punyeh npwuudbbipnubp
0 0 0
nphg'
2182| 01 8 1| - npwdwunphubp << whnwywu pynigbht
s83l o 8 ] - npwdwounphubp << wy) hwdwjtpbph pnkubphtu
n84| o 8 o |un pynu’ plwuh hwdwpwnwpwht dwhuutiph 0 0 0
Shuwbuwynpdwl hwdwp
wjn pUnd dwhuutiph Yepdwunuip' puwn pynigbinw)ht
Swhuubiph nunbuwghnwlwl nwuwlwpgdwl
hnnywsttinh 0 0 0
2200 | 02 0 0 AWESAULAMTINML 200 200 0
(1nnn2210+2220+wnnn2230+w1nn2240+wnn2250)
win pUn’
2210 02 1 0 |Mrwquuwlwl wwypuwbniyainil 0 0 0
nnha'
2111 02 1 1 |Nwqdwlwl wwonwwuniyentu 0 0 0
wyn pYnu dwiuubph Yapdwunuip' pun pjnighbitnwjht
Sdwhuubiph nuwnbuwghnwwl nwuwywpgdwl
hnnywdubinh 0 0 0
2220 02 2 0 |Pwnwpwghwlwl wwyypuwbniypnit 200 200 0
nnha'
2211 02 2 1 JRwnwpwghwlwl wwaunwwunyzntu 200 200 0
wyn eynw dwhuubiph Ybpdwunwp' punn pjnigbitnwht
Sdwhuubiph nunbuwghnwlwl nwuwlwpqdwl
herliuBbch 200 200 0
-Cunhwunip punyph w)) dwnwjnipjniuubp
200 200 0
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Pyngbunwjht swhuubph gnpdwnwljwi wjn pynuf
S
; Snrh = %‘- 3 nwuwlwpgdwl pwdhtubph, fudptiph L Cunwdbup
NN & _S ¢ | nwubph, hugybu bwlb pynigbwnwiht Swhuubph (u.7 +u.8) Juwpswlwt dwu | $nunuht dwu
nunbuwghnwljwt nwuwlwpgdw

1 2 3 4 5 6 7 8

2230( 02 3 0 |Upypwpht nuqiwljwl oglnipynit 0 0 0
nnha'

22311 02 3 1 |Upunwpht nwqdwlwt oqunipntu 0 0 0
wyn pyYnw dwiuubiph yepdwunwdp' pun pynigbnwghu
Sdwfuubiph nunbuwghnwwl nwuwlwpgdwu
hnndwdubiph 0 0 0
Lbypwqnpuwlwt b bwpwqbughtn wyfuunpuwtiptibp

22401 02 4 0
wwompnwwhniaiwl npnpypnd 0 0 0
nnha'

94 Lbnwgnuuwlwt b bwhiwgdw ht wpfuwwnwupubn

1 02 B 1
Wwomuwwuniypiwl ninpuintd 0 0 0
nnha'
2250| 02 5 0 | Muwzypwwinipynils (wyp nuubphl sujwiplyuiting) 0 0 0
ha'

22511 02 5 1 [Nwanywlnyenit (w)| nwubpht swwwnlwunn) 0 0 0
wyn pYnud dwiuubph Yepdwunuip' pun pngbnwiht
Sdwhuubph nunbuwghwnwlwl nwuwlwpgdwu
hnnywdutiph 0 0 0

<uvuruyuyun Lwurg,
uLdsSuLvanr@3nhtL b HUSULUL
By . | o] o QNPUNKLLNRB3NKL 0 0 0
(nnn2310+w1nn2320+wnnn2330+unnn2340+wnnn2350+
nnn2360+wnn2370)
win punud’
2310 03 1 0 |fwuvwpwluwlwb jupq b whfipwbgnipini 0 0 0
nnha'

23111 03 1 1 |Nunhlwunieniu 0 0 0
wyn pYnd dwiuubph Yapdwunwip' punn pnbnwiht
Sdwiuubph nunbuwghnwlwt nwuwlwpgdwu
hnnywdtiph 0 0 0

2312| 03 1 2 |Uqqujht wudunwlgnipniu 0 0 0
wyn eyYnw dwiuubiph depdwunidp’ pun pyngbuniwhu
Swhuubph nunbuwghunwlwl nwuwlywpgdwl
hnndwdutinh 0 0 0

2313( 03 1 3 |Mbnwlwl wywhwwunygniu 0 0 0
wyn eYnwd dwiuubiph Yepdwunwip' punn pjngbuniwiht
Swluubph nunbuwghunwlwl nwuwlwpgdwu
hnndwdubph 0 0 0
...................................................... 0
...................................................... 0

2320( 03 2 0 |Pplwpwp dwnwynipynil 0 0 0
nnha'

2321 03 2 1 1Pplwpwp dwnwynizniu 0 0 0
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Pynigbwnw)ht dwhuubiph gnpéwnwlw

wjn pyYnud’

3
J £ 5 3 nwuwlwpgdwl pwdhuubph, udptph L Cunwdbup
Snnh S 3
NN g 2 | & [nwubph, husybu bwl pynigbnwyht Swhuubph | (u.7 +u.8) | Yuwpswywt dwu | $ntnuht dwu
nunbuwghunwlwt nwuwlwpgdw
1 2 3 4 5 6 7 8
wyn pUnwd dwiuubph yepdwunwdp' pun pnigbnwht
Sdwluubiph nunbuwghunwlwu nwuwlwpgdwu
hnnuwstbinh 0 0 0
Uy uyhunwy ppwdwaunphubp 0 0 0
- Chupbiph L 2htinipyniiubph uuwhwnw
JbEpwunpngnud 0 0 0
2330 o3 3 0 Tuwpuwlywl gnpdniblinypynit b ppwywljwt 0 0 0
wwompnwwbniainil
nnha'
2331| 03 3 1 | rwwnwpwtibibp 0 0 0
wyn RYnwW dwiuubiph yepdwunidp’ pun pnigbinwih
Swluubph nunbuwghunwlwt nwuwlwpgdwu
hnndwdubph 0 0 0
2332| 03 3 2 |Ppwlwlwt wywanwwunyzni 0 0 0
wyn pUnd dwhuubiph Jepdwunwip' puwn pnigbinwh
Swhuubph nunbuwghunwlwl nuuwlwpgdwu
hnndwdubiph 0 0 0
2340| 03 4 0 |Hruypwfuwqnipini 0 0 0
nnha'
2341 03 4 1 |twwnwluwgnipiniu 0 0 0
w)n pYnu dwiuubph Yepdwunuip' punn pimgbnwiht
Sdwhuubph nunbuwghunwwl nwuwlwpgdwu
hnnuwdlbinh 0 0 0
2350 03 5 0 |Ywwbwyuypbp 0 0 0
nnha'
2351| 03 5 1 [Ywwbwdwpbp 0 0 0
wyn ey dwiuubph yapdwunidp' puwn pyngbnwhu
Sdwhuubiph nunbuwghunwwl nwuwlwpgdwu
hnndwdubiph 0 0 0
LEypwgnipwljwl nt bwfuwgdwhty wfuuwpwlptbp
23601 03 g ¢ hwuwpwluwlwt Gupgh b whipwbgnipjut 0 0 0
nnha'
Cbunwgnunuwlwl ni bwhuiwgdwht woluwwnwlptbp
23611 03 6 1 Jhwuwpwlwlw Yuwpgh b wuunwugniyewl ninpuinud 0 0
0
wyn pUnw dwiuubph Japdwunidp' pun pnwbunwhu
Sdwiuubph wnunbuwghnwwl nwuwlwnpgdwt
hnnuwdltinh 0 0 0
537 Cwuwpwlwlwl Gupg b whdgpwbgnipnil (wyg
TOL O T O N uutbppb suunpluting) 0 0 0
nnha'
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Pjnpbwnwht Swhuubiph gnpdwnwlwt wyr pYnud’
{ snnp % % g nwuwlwpgiwu pwdhuubph, udpbph b Cunwdbkup
N’:‘ & _5 ¢ | nwubph, husybu bwb pyngbnwht dwiuubph (u.7 +u.8) Jwpswlwt dwu | $nuinwiht dwu
nunbuwghnwlw nwuwlwpgdwy
1 2 3 4 5 6 7 8
3| o3 ; . Cwuwpwlwlwl Yupg b wiudnwugnpnit (w) 0 0
nwubpht swwunljwunn) 0
wyn pyYnd dwiuubph Yepdwunuip' puwn pnigbiinwht
Sdwiuubph nunbuwghnwywl nwuwlwpgdwl
hnnywdutinh 0 0 0
SLSEUULUL <urursrnNih@3nruier
2400 04 0 0 | (1nnn2410+1nn2420+1nnn2430+1nn2440+nnn2450+ | 54081,4 12450 41631,4
nnn2460+nnn2470+wnnn2480+w1nn2490)
win punuf’
Cunhwlnip punyph pupbuwlwl, waluppughts b
24101 04 1 0 wppuwpwtipp qdny hwpwpbpnipiniiibp 0 0 0
nnha'
Cunhwlnip punyph ntnbuwlwu b wnlinpwihu
il o4 ] 1 hwpwpbpnyenibp 0 0 0
wjn pyYnw dwhuubph yapdwunwip' punn pnigbnwihu
Sdwiuubiph nunbuwghnwlwl nwuwlwpgdwt
hnndwdlbiph 0 0 0
24| 04 1 5 Uphuwwnwtph hbwn Yuwywd punhwlny punyph 0 0 0
hwpwpbpnieniuubip
wyn pynid dwiuubph yepdwunwip' putn pjnigbnwihu
Sdwhuubph nbwnbuwghunwlwl nwuwwpgdwl
hnndwdubph 0 0 0
Ynnuptupbunyaynil, whpwnuyght
2420] 104 : 0 pplupbunipynil, dyunpuniaynits ik npunpniaynit 12150 12150 0
nnhg'
24211 04 2 1 |Sninwnunbunyeniu 150 150 0
wyn peynd dwhuubph ybpdwunuip’ punn pjngbinwhtu
Sdwhuubiph wunbuwghnwlwl nwuwlwpgdwu
hnnuwlbph 150 150
-Uwubtwghnwlwl Swnwjnipyniubp 150 150 0
2422 04 2 2 |Utunwnwiht inuinbunipniu 0 0 0
wyn pyYnd dwhuubph Yepdwundp' pun pjnigbiniwhu
Sdwhuubph wunbuwghwnwlwl nwuwlwpgdwu
hnnuwBtibph 0 0 0
2423 04 2 3 |ayunpunipiniu L npunpnniejntu 0 0 0
wynp YN dwiuubiph Ybpdwunwdip' pun pynigbitwihu
dwhuubnh nuwnbuwghwnwlwl nwuwlwpgdwu
hnndwdubtph 0 0 0
2424| 04 2 4 |Nnngnuw 12000 12000 0
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Pynigbnwjht Swiuubph gnpéwnwlwi

w)n pyUnut’

sanp % % s nwuwlwpqiwl pwdhuubph, fudpbph L Cunwdbup
N':J & _s ¢ | nwubph, hugybu bwb pynigbinwht whuubkph (u.7 +u.8) Jwpswlwl dwu | $nunwiht dwu
nunbuwghnwlwl nwuwywpqiwu
1 2 3 4 5 6 7 8
wyn pYnw dwhuubph Yepdwunwip' punn pjnbnwiht
Sdwhuubph ntnbuwghnwlwl nwuwlwpgdwt
- Lwhiwgéwhbunwgnunwlwl dwhuukp 0 0 0
- Chupbph L 2hunipyniiiiph Yuwhuw
YbEpwunpngnd 0 0 0
- Thupbph L 2hunipyniiiiph 2htwpwpnipynit 0 0 0
-Uj juyhww npwdwytnphtbp 12000 12000 0
- Cupwghl npwdwtinphtbp wEnwlwy b
hwdwjupubph ng wnlunpwyht
Jwqiwlbpwnipniuubpht 0 0 0
2430 04 3 0 |Ywnbipp b bubpgbphlw 1500 0 1500
nnha'
2431 04 3 1 JRPwpwdnitu b wy Yupdp pwlwl Junbhp 0 0 0
wyn pynu dwhuubph yepdwunuip' putn pingbinwiht
Sdwhuubph nunbuwghnwlwl nwuwlwpgdwl
hnnywdlbph 0 0 0
2432 04 3 2 |Lwypwdrbnp U puwlwl quq 1500 0 1500
wjn pynud dwfuubiph Yapdwunuwip' puwn pyngbinwght
Sdwiuubiph nuwnbuwghnwlwt nwuwlwpgdwl
e 1500 0 1500
- Thupbiph L 2hunipjniutbiph shtiwpwpnipnit 1400 0 1400
- Lwhiwgéwhbunwgnunwlwl dwhuukip 100 0 100
2433 04 [ 3 | 3 [Uhgnijuwjhts duntiihp 0 0 0
wyn pynuw dwhuubiph yepdwunwip' punn pynigbinwihtu
Sdwiuubiph tnunbuwghnwlywl nwuwlywpgqiwu
hnndwdubph 0 0 0
Lenbwwprynbwhwbmd, wpynibwpbpniypynit b
2440 04 Bl 0
2htiwpwpnipynil 0 0 0
nnha'
Cwlpwjht nbunputbph wpryniuwhwunud,
2441] 04 £ ] pwgwnnipjwdp ptwlwl Junbihph 0 0 0
wyn pynd dwiuubph Yepdwunwip' punn pnigbinwiht
Sdwhuubph ntnbuwghnwlwl nwuwlwpgdwl
hnnywdubiph 0 0 0
2442| 04 4 2 |Upmyniwpbipnipntu 0 0 0
wyn pYnw dwhuubiph Jepdwunwdp' pun pnigbnwhu
Sdwhuubiph nunbuwghunwlwt nwuwlwpgdwu
hnnywdubph 0 0 0
2443 04 4 3 [Chuwpwpnigjniu 0 0 0
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hnndwdubiph

Pjnigbnwht Swiuubph gnpéwnwlw wjn pyYnd’
1s, h % % 3 nwuwlwpgiwl pwdhuubph, fudptph b Cunwdbkup
Nr:l & s & | nwubph, hugwybu bwl pyngbinwyht dwiuubph | (u.7 +u.8) | Jupgwlwy Swu | ntinwihl dwu
ntunbuwghnwjwl nwuwlwpgiwl
1 2 3 4 5 6 7 8
wyn pUnwW dwhuubiph Jbpdwunuip’ puwn pnigbinwih
Swhuubph nnbuwghnwlwl nuuwlwpgdwl
hnnywatinh 0 0 0
2450 04 5 0 |Spwbuynpip 334800 300 334500
nnha'
usi| o4 | 5 | 1 |Swbuwsuphwhl npubusnne 334800 300 334500
wyn eynwd dwhuubiph Yapdwunwdp' pun pnighinwih
Swhuubph nunbuwghnwlwl nuuwlwpgdwu
hinaluiilink 334800 300 334500
- Cupwghy npwdwtnphbp wEnwlwy b
hwdwjpubiph ng wnlinpwht
Jwgdwlbpynienituubpht 0 0 0
- Thupbkph L 2htinipyniiiph 2htwpwpnipyni 0 0 0
-Cwinnil bywinwlwht wy ynpbp 300 300 0
- Chupbph b 2htunipynitubph Ywuhnw
JEpwunpngnud 328000 0 328000
- Lwhiwgéwhbunwgnunuwlwl swhuubkp 6500 0 6500
2452| 04 5 2 |2pwjhtu npwluwynpun 0 0 0
wjn pyYnwd dwuubiph Ybpdwlnwip’ punn pjnighnwhl
dwhuutiph wunbuwghnwlwl nuuwlwpgdwl
hnnuwatbiph 0 0 0
2453 04 5 3 |Eplwpeninuiht tpwluwnpun 0 0 0
wyn eynuw dwhuubph Japdwunwdp' punn pjnigbinwh
Swuubiph wunbuwghnwlwl nwuwlwpgdwl
hnnywdutiph 0 0 0
2454| 04 5 4 |Onwjht npwbuwnpn 0 0 0
wyn pynu dwhuubph YEpdwlnwip' punn pynigbinwihl
dwiuubiph nlinbuwghnwlwl nwuwlwpgdwl
hnnywdutiph 0 0 0
2455| 04 5 5  [runnnuwlwowpuwiht b w)| npwbuwynpn 0 0 0
wyn eynud dwhuubiph Yapdwlnwip’ punn pjnigbnwihl
Swhuubiph wunbuwghnwlwl nwuwlwpgdwl
hnndwdutiph 0 0 0
2460 04 6 0 Yy 0 0 0
nnha'
2461| 04 6 1wy 0 0 0
wjn pUn dwhuubinh Ypdwlnwip’ pun pjnigbuiwih
Swhuubph wunbuwghnwlwl nwuwlwpgiwl 0 0 0
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hnndwdubnh

Pynigbnw)ht dwiuubiph gnpéwnwlwu wyn pyYnid’
1 snnp % % s nwuwlwpqiwl pwdhutbph, judptph L Cunwdkup
N: & E, & | nwubph, huswybu bwl pjnigbnwiht Swhuubph | (u.7 +u.8) | Jupgwlwt dwu | Hntnuht dwu
wnunbuwghnwiwt nuuwlwpgdwu
1 2 3 4 5 6 7 8
2470 04 7 0 |W phwquywnbbp 0 0 0
nnha'
Ubdwdwhu b dwlpwdwiu wnlnny, wypwupltiph
2471 04 ’ ! wwhwwun b wwhbunwynpnid 0 0 0
wyn pYnw dwiuutiph Ybpdwunwdp' puwn pynigtitnwh
Swhuubiph nunbuwghnwlwl nwuwlwpgdwu
hnnywdubiph 0 0 0
2a72| 04 7 5 nipwtingubip b hwuwpwlwlwl utunh opjlwntbin 0 0 0
wjn pyYnw dwhuubiph Jbpdwunwdp’ puwn pjnwbiunwht
dwhuubiph nunbuwghnwlwl nwuwlwpgdwl
hnndwdutinh 0 0 0
2473 04 7 3 |2pnuwgponipniu 0 0 0
wyn pynw dwhuubiph dbpdwunwip’ putn pnigbnwiht
dwhuubph nunbuwghnwlwl nuuwlwpgdwl
hnnJwdubiph 0 0 0
2474 04 7 4 |Rwpgwgiwl pwqiwtwwwnwl dpwgpbp 0 0 0
wyn eUnw dwhuubiph Ybpdwunwip' puwn pjnigbinwh
Sdwhuubph nunbuwghnwlwl nwuwlwpgdwl
hnnywdubiph 0 0 0
Stupbuwlwt hwpwpbpnipynibilph gény
Y . Ge 8 2 hbypwqnipuwljwt b bwuwgdwiht wyfuwpwptbp 0 0 0
nnhg'
Cunhwunip punyph wnunbuwlwl, wnlinpwiht b
21| 04 | 8 | 1 |wohuwinwtph hungtinh gdny hbnwgnnwluwl L
Lwhiwgdwiht woluwwnwuplbp 0 0 0
wyn pYnwt dwhuubiph Ybpdwunwp’ puwn pjnigbiuniwht
Sdwiuubph nunbuwghnwlwl nuuwlwpgdwl
hnndwdltinh 0 0 0
Fninwintiinbunypiwl, winwnwht nunbunyejwl,
2482 04 8 2 |ayunpunipjwts b npunprnyejwl gany
hnwgnunwlywl b bwhiwgdwjht watuwwnwpltin 0 0 0
wyn pynd dwhuubph Yapdwunuip’ punn pjnigbitnw)ht
Sdwhuubiph nunbuwghnwywl nwuwywpgdwl 0 0 0
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Pynigbnwyht dwhuubiph gnpéwnwlwl wyrp pynud’
s % § 3 nwuwlwpqiwy pwdhtitbph, udpbph b Cunwdbup
:;H] & 5 & | qwubph, htgwbu twl pyngbnwht dwhiubph | (.7 +u.8) | Jupswlywl dwu | $nbnujh dwu
nunbuwghnwlwl nuuwlwpgdwi
1 2 3 -+ 5 6 7 8
Jwnbihph U tubipgbnhlywh gdny hbvnwgnunwiw b
2483| 04 8 3 Lwhiwgdwht wluwwnwupubp 0 0 0
wyn pYnw dwhuubph Ybpdwlnwip’ puwn pjnighinwgh
dwhuubph wunbuwghnwywl nwuwwpgdwl
hnnywdutiph 0 0 0
Lbntwwpnyniwhwbdwl, wpyniwpbpniygjwt b
2484 04 8 4 |2huwpwpnipiwt gdny hnwgnunwuwl b
twhuwagdwhtu wotuwnwuputip 0 0 0
wyn pynud dwhuubiph Yepdwunwip' puwn pjnighinwjhu
Swhuubph nunbuwghnwlwl nwuwywpgdwl
hnnywdubiph 0 0 0
Stupbuwlwl hwpwpbpnyaynibibp (wyp nwubpht
290 04 19 1O wplwting -294368,6 o| -294368,6
nnha'
Sunbuwlwl hwpwpbpnuejniuubnp (w) nwubiphu
i Wil Ml LT e -294368,6 0] -294368,6
wyn ey dwiuubinh Ypdwnup’ puwn pnigbinwih
dwhuutiph wnnbuwghnwlwl nuuwlywpgdwl
hnliudtbich -294368,6 0| -294368,6
Shnbuwfuh hwpwpkpnientbbp (w) puukphb
syjuinjjwling) -294368,6 0] -294368,6
cruyu UhRU4U3rh
2500 | o5 | o | o AUEEMULAMIDRL 183900 115000 68900
(1nnN2510+11nN2520+11nN2530+nnn2540+nnn2550+
nnn2560)
win punuf’
2510[ 05 1 0 |Unpwhwlnd 183900 115000 68900
nnha'
251 05 1 1 |Unpwhwund 183900 115000 68900
wyn pUnw dwhuubph Yapdwunwip' pun pjnigbinwgh
dwhuubiph nnbuwghnwlwl nwuwlwpqdwl
WA 183900 115000 68900
- Cupwghy npwdwtinphtbp wEnwlw b
hwdwjuptbph ng wnbnpuwht
Ywaqiwlbpwnipiniuibpht 115000 115000 0
- Spwlbuynpunwht uwppwynpnuftbip 68900 0 68900
25201 05 2 0o |Ybnpweptph hbnwgnid 0 0 0
nnha'
25211 05 2 1 |Ybnuwentiph hbnwgnud 0 0 0
wyn pUn dwhuubiph Yepdwlnuip’ pun pingbnw)hu
Swuutiph wunbuwghnwlwl nuuwlwpgiwl
hnnwStibnh 0 0 0
2530 05 3 0 |Cpowlw dpgwuyph wnipnipdwl nbd wuypuwp 0 0 0
nnha'
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Pjnigbnwyht Swiuubph gnpdwnwlwl

wyn pynul’

s ‘% % s nwuwlwpgdwl pwdhuubph, judpbph L Cunwdkup
nnh 3 E & | nwubph, htugybu bwb pynigbnwiht dwhuubiph (u.7 +u.8) Jupswlwl dwu | $nunuwiht dwu
NN <
nunbuwghnwiwt nwuwlwpgdwu
1 2 3 4 5 6 7 8
35311 05 3 1 |Cpowlw dhowywph wninnundwt nbd wwjpwn 0 0 0
wyn pyYnw dwiuubiph Ybpdwunidp' punn pjngbinwihtu
Sdwuubiph nunbuwghnwlwl nwuwlywpgdwl
hnnywdutiph 0 0 0
2540| 05 4 0 |Ybbuwpwquwquunypjwl b puntipwl 0 0 0
nnha'
2541 05 4 1 |Ybluwpwqlwquuniejwl U puniyejwl 0 0 0
wyn pUnd dwiuutiph Ybpdwunwip’ punn pnigbunwiht
Sdwhuubph nuwnbuwghnwwl nuuwlwnpgdwl
hnnJwdubph 0 0 0
Cpgwlyw dhowuyph wwpipuywbniyeyuwl gény
60 109 d g hbpwqnpulw b bwpwqdughln wpfuwpwbptbp 0 0 0
nnha'
Cpowlw dhowyw)nh wwunwwunipjwl gny
25511 05 S 1 |hbnwgnunwlwt b bwhiwgdwiht wtuwwnwlupubp 0 0 0
wynp pUNW dwiuubiph yepdwunwp' puwn pynigbnwh
Sdwluubph nunbuwghunwlwl nwuwlwpgqdwu
hnnywdutiph 0 0 0
2560 05 6 o |Crewlw dhguduyph wuwzpuuinyenil (wyy 0 0 0
nuubipht sujunpljwting)
nnha'
2561l 05 6 ;- [erewlw dhowuwinh wwaunwwunin (wj 0 0 0
nwubpht swwwnljwunn)
wyn pYnw dwuubiph Ybpdwunwdp' pun pjngbiunwght
Sdwhuubph nunbuwghunwlwu nwuwlwpgdwu
hnndw3ubiph 0 0 0
- Lupwghly npwdwtinphubp wEnwlwo b
hwdwjupubiph ng wnlinpwyht
Juwgdwlhbpynipniuubpht 0 0 0
- Spwluynpuwiht vwppwynpnuiubp 0 0 0
- Lwhiwgéwhbunwgnunuwlwl dwhuubp 0 0 0
pPLULUNULUSPL ThLUrUrNia3NhL
oo | o6 | o | o | B4 uUNUARLUL DURUSNRE3NRL 324500 85000 239500
((nnn3610+nn3620+w1nn3630+wnn3640+wnn3650
+nnn3660)
w)n pynud
2600 06 | 1 | 0 |Pwluputiuyht shtwpupnpend 214500 85000 129500
nphg'
2611 06 1 1 |PUwlwpwlwiht ohtwpwpnipniu 214500 85000 129500
wyn pUnw dwhuubph Jepdwundp' puwn pjnigbnwhu
Sdwhuubiph nunbuwghwnwlwt nwuwlwpgqdwl
hnnuwatbnh 208000 85000 123000
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Pynigbnwhu dwiuubph gnpéwnwlw

w)n pyYnw’

Swnwnipinibibp (wy nwubphb swunplwnng)

snnp % & 5 nwuwlywpgiwl pwdhuubph, fudptph L Cunwdbup
n ~
N':'J & _S & | nwubph, hugybu bwlb pymgbnwiht dwiuubph (u.7 +u.8) Jupswlwt dwu | $ntinuiht dwu
nunbuwghnwwi nwuwlwpgdwl
1 2 3 4 5 6 7 8
- Pupwghly npwdwtnphubp wEnwlwy b
hwdwjupubiph ng wnlinpwyht
Juwqiwlbpwnipnituubpht 85000 85000 0
-Uj| ywyhww) apwdwanphubip 0 0 0
- Lwhiwgdwhbunwgnunwlwl dwhuubp 6500 0 6500
- Chuptiph L 2hunipyniuubph juuwhunw
Jbpwhnpngnud 123000 0 123000
2620 06 2 0 |<wduwjlipuyhti qupgugnid 0 0 0
nnha'
2621 06 2 1 |<wdwjupwiht qupgugnd 0 0 0
wjn pYnw dwiuutinh Jbpdwunwip’ punn pngbunwiht
Sdwhuubiph nunbuwghnwlwl nwuwlwpgqdwl
hnnywdutiph 0 0 0
2630| 06 3 0 |Rpwdwypwlwpwpmd 0 0 0
nnha'
2631| 06 3 1 Rpudwinwlwpwpnud 0 0 0
wyn pyYnud dwhuutiph Ybpdwunwp’ pun pngbunwht
Swhuubiph nunbuwghnwlwy nuuwlwpgdwl
hnnuwstinh 0 0 0
2640| 06 4 0 |®Pnnngubiph (nwuwnpnd 110000 0 110000
nnha'
2641 06 4 1 |®nnngubinh |nwwynpnud 110000 0 110000
w)n pYnd dwiuubiph Ybpdwunwp’ puwn pnighunwhtu
Sdwhuubiph wunbuwghnwwl nwuwlwpgdwi
hnnuwdtbiph 110000 0 110000
-Ubkpbuwubph L uwppwynpnudubph pupwghl
unpngnud b wywhujwinwd 0 0 0
-Cwwnintly byywwnwluwyht wy bynpbp 0 0 0
- Thuptiph b 7hunipyniiubph 2hiwpwpnipinit 0 0 0
- Thupbph L 2htunipyniiuph Juwhuwg
Jbpwhnpngnud 106500 0 106500
- Lwhiwgbwhbnwgnunuwlwt dwhuubp 3500 0 3500
Phwlwpwbuyght pghtiwpwpnipuis b hndnibw)
2650 06 5 0 |Swnuwynipynitiibph gény hbypwqnipwlwl b
bwhuwgduhtt wyhuwypwtiptbip 0 0 0
nnha'
Puwlwpwlwht ghtuwpwpniejwt b Yyndniiw
2651 06 5 1 |dwnwjniejniutbph gdny hbnwgnunwlwt W
Lwhiwgdwiht wtuwwnwlpllbp 0 0 0
wn U dwiuutiph Ybpdwunwip’ punn pnigbitiwiht
dwhuutiph wunbuwghrnwlwt nuuwlwpgdwl
hnndwdltinh 0 0 0
- Lwhiwgébwhbunwgnuwljwb dwiuubp 0 0 0
2660 06 6 0 Phwlwpwbughts phtiwpwpnipyui b Yndnibiwyg 0 0 0

nnha'
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Pynigbwnwhtu dwiuubph gnpéwnwlwi wyn pynd’
{snqp 2| S : nwuwlwpgiwl pwdhtibph, judpkph b Cunwdblp
NN & _s ¢ | nwubph, hugybu bwb pynigbnwihu dwiuubkph (u.7 +u.8) Juwpywlwl dwu | $nuinuiht wu
nunbuwghnwlwt nwuwlwpgdwu
1 2 3 4 5 6 7 8
. . Puwlywpwuwhu shtwpwpnipjwl b Yndniiw|
il oo ] Sdwnwynupjniutibp (w)| nwubpht swwnlwunn) 0 0
wyn pYnuw dwiuubph yepdwunwp' puwn pnigbuiwjht
Sdwhuubiph nunbuwghunwlwl nwuwlwpgdwu
hnnyw3ltinh 0 0
_— unnN1RUMULNRE3NKL
07 [ 0 1 0 | (ann2710+1nn2720+1nn2730+nn2740+nnn2750+ 0 0 0
win pdmy’
70l o7 4 0 Pdrjwlwl wypwptlip, uwppbp b
uwppwynpmdubp 0 0
nnha'
2711 07 1 1 |Henwgnpdwlwl wuwpwuptbn 0 0
wyn pynw dwiuubiph ybepdwunidp’ pun pnigbnwh
Sdwfuubph wuwnbuwghnwlwl nwuwywpgdwu
hnndwdubiph 0 0
2712 07 1 2 U pdojulw wwypwlpubn 0 0
wyn pYnud dwiuubph Yepdwunuip' putn pjnbiinwiht
Sdwfuubiph nunbuwghunwywt nwuwywpgdwu
hnnJwdubiph 0 0
2713 07 1 3 |Pdlwlwt uwpptip W uwppwynpnudubp 0 0
wyn pYnw dwiuubph ybepdwunidp’ pun pynigbunwhu
Sdwhuubph nunbuwghnwlwl nwuwlwpgdwl
hnnywsutiph 0 0
2720 o7 2 0 |Uppwhhduwbnwnguyhti Swnwynyaymutibp 0 0
nnha'
a1l o7 5 i Cunhwunip punyph pdalwlwl dwnwnyeniutibin 0 0
wyn pYnw dwiuubph ybepdwunwip' punn pjnighnwihtu
Sdwfuubiph nunbuwghunwwl nwuwwpgdwu
hnnywdutiph 0 0
722 o7 2 2 |Vwutiwghunwgywsd pdowlw dwnwjniejniibn 0 0
wyn pYntd dwiuubph depdwunidp' punn pnigbnwiht
Sdwluubiph nunbuwghunwlwl nwuwwpgdwl
hnnjwdubiph 0 0
2723 07 2 3 |Unndwuninghwlwt dwnwjniejniuip 0 0
wyn pUnw dwiuubiph Japdwunwip’ pun pnibnwh
Swluubph nunbuwghunwlwl nwuwlwpgdwu
hnnuwdtibph 0 0
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Pynigbinwyht dwiuubiph gnpéwnwljwl

wjn pynu

e % = 3 nuwuwlwpqiwt pwdhutbph, fudptiph L Cunwdkup
:;H‘ & E & | quubph, hugwybu twl pynigbunwiht Swiuubph (u.7 +u.8) Jupswlwt dwu | $nunwiht dwu
ntnbuwghnwlwt pwuwjwpgqdw
1 2 3 4 5 6 7 8
2724 07 2 4 | Mwpwpdrwlwl dwnwjniejniuttip 0 0
wn pynud dwuubinh Ybpdwlnuwip’ pun pynigbinwght
dwhuubiph nbnbuwghnwlwl nwuwlwpgdwl
hnnywdutiph 0 0
2730| 07 3 0 |<pywtinwtinguypti Swnwynipyniubibp 0 0
nphg
2731 07 3 1 |Cunhwunip punyeh hhjwunwungwjhu 0 0
wn pYnud dwhuubiph Ybpdwunuwp’ pun pinigbnwh
dwiuubph wntnbuwghnwlwl nuuwywpgdwl
hnnywdubph 0 0
27321 07 3 2 JUwubwghwnwgywd hhjwunwungwihu 0 0
wyn pUnwd dwuubiph Yepdwunwip’ pun pnighunwih
dwhuubiph wnunbuwghnwlwl nwuwlywpgdw
hnndwsbtinh 0 0
2733 07 3 3 |Pd2ywlwy, dnp L dwbljwl Yeuwnpnuubph 0 0
b VNN
wjn YN dwhuubiph Ypdwlnuip’ puwn pnighnwih
Swhuubph nnbuwghnwlwl nwuwlywpgdw
hnnywdubiph 0 0
_ <hywunh futwdph U wnnngnipjw Ybpwlwugudwu
2734 07 3 4
tnlwjht dwnwjniniulibn 0 0
wyn pynud dwuubiph Ybpdwunuwip’ pun pynighniwht
dwhuutiph nbnbuwghnwlwl nwuwywpgdwl
hnnjwdubiph 0 0
s740| 07 4 0 Swhpuwyht wannowuwhwlwl Swnuynipnibibp 0 0
nnha'
27411 07 4 1 |<wupwiht wnnnowwwhwywu Swnwjnipyniutitip 0 0
wyn pynu dwiuubiph Yepdwunwip’ putn pinbitnwiht
dwhuubiph wunbuwghnwlwl nwuwlywpgdw
hnnJwdubph 0 0
Unnnowwwhnipjul gény hbpwqnipuljw b
gl & > 0 bwfuwqduyht wypswpwliplbp 0 0
nnha'
71| 07 5 ; Unnnowwwhnipjwt gdny hbnwgnunwlwu b 0 0
bwhiwgdwiht wotuwwnwlplbip
wyn pYnw dwhuubph Ybpdwunuwip’ pun pnigbitnwht
Swhuubiph wunbuwghnwljwu nwuwlwpgdwl
handwdltiph 0 0
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Pynigbinwjht Swiuubkph gnpéwnwlwu

w)n pynu

hnndwdubph

1s % 5 3 nuwuwlwpgiwl pwdhuubph, udpkph L Cunwdkup
:r,:h & _5 & | nwubph, husybu bwb pyngbnwiht dwhuukph (u.7 +u.8) Juwpswlwy dwu | $nunwjht dwu
nunbuwghnwlwl nwuwlywpgdwu
1 2 3 4 5 6 7 8
760l o7 6 0 Unnnowwwhnupynil (wyy nuwubpht syywpljwbing) 0 0 0
nnha'
2761l 07 6 , Unnnowwwhwlwu hwpwlhg dwnwjniyeiniutitip b 0 0 0
Spwantip
wyn pYnwd dwhuubph Yepdwunwp' pun pnigbinuwht
Sdwhuubiph wunbuwghnwlwl nwuwlwpgqdwu
hnnywdutiph 0 0 0
762l 07 6 5 Unnnowwjwhnipnit (w)j) nwubiphl sywwnlwunn) 0 0 0
wyn eYnw dwiuubph Ybpdwunwp' puwnn pjnigbinwihu
Sdwuutiph nunbuwghnwlywt nwuwlywpqdwu
hnnywsubinh 0 0 0
<UL9hUS, UTUUNR3ME 64 urnu
2800 | 08 0 0 |(:nnn2810+1nnn2820+11nn2830+1nnn2840+nnn2850+| 39600 17800 21800
nnn2860)
wjn pynu’
80| 08 | 1 | 0 |<wtiquiph b uynpipp swnuynipndibp 21100 1300 19800
nphg' 0
2811 08 1 I |<wbguwnh U uynpunh Swnuwjnigjniuitin 21100 1300 19800
wjn pYnwt dwhuubiph Yepdwunwp' putn pjnigbitnwht
Sdwhuubiph nuwnbuwghnwywl nwuwywpgdwu
hnndwstbnh 21100 1300 19800
- Uy| pupwghl npwdwaunphubp
(innn 4534+wnnn 4537 +wnnn 4538) 500 500 0
-Gpuwubtywluwyht ynipbp b hwgnwwn 0 0 0
-Uj| bywuwntbp pynigbihg 800 800 0
- Chuptiph b 2hunipymititbph fuwyhunw
Jpwunpngnud 15300 0 15300
- Thuptiph L phunipyniiubph 2htiwpwpnipniu 0 0 0
- Lwhiwgédwhbunwgnunwlwl dwhuubp 4500 0 4500
2820 08 2 0 |Vzwlnipuyhl Swnwynipynitiibp 16500 14500 2000
nnha'
2821| 08 2 1 |Fpwnwpwbltp 0 0 0
wyn pyYnud dwiuubph Yepdwunwp' putn pjnigbinwght
Swiuubiph wunbuwghnwlwu nwuwlwpgdwl
hnndwdubiph 0 0 0
2822| 08 2 2 |Fwugqupwutbp b gniguupwhubp 0 0 0
wyn pUn dwhuutiph Yapdwunuip’ puwn pynigkitnwihu
Sdwiuubiph wunbuwghnwlwl nwuwlwpgdwl 0 0 0
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Pynbunwhtu dwhuubph gnpdwnwlwu

wyn pynid’

1 % $ 3 nuuwlwpgiwl pwdhtubph, udpkph L Cunwdklp
:rrhh 3 _s & | nwubph, pugybu bwl pymgbnwht dwiuubph | (u.7 +u.8) | Jwpswlwy dwu | $ntnwiht dwu
nunbuwghnwjwt nwuwlwpgdwu
1 2 3 4 5 6 7 8
2823| 08 2 3 |Vawynypeh wlbn, wynuplbp, Yeunpnttbn 13000 11000 2000
wyn eYnw dwhuubph yepdwunidp' putn pjnbinwiht
Sdwhuubph nunbuwghnwlwl nwuwlwpgdwl
honuudlibnh 13000 11000 2000
-Untpupnhwtibp ng-$htiwtivwjw wyhnwlwu
(hwdwjupw)ht) Juqdwlbpwnipniuubpht 11000 11000 0
- Chupbph L 2hunipynitubiph uwwhunw
ybpwunpngnid 0 0 0
- Lwfuwgéwhbnwgnuwljwl dwhuukp 2000 0 2000
2824| 08 2 4 |y dwhniypwht huqdwlbpwnyejniutin 3500 3500 0
w)n RrUn dwhuubiph Yepdwunwip’ punn pjnigbinwihu
Sdwiuubph nunbuwghwnwlwl nwuwlwpgdwl
hnndwdubph 3500 3500 0
-Cunnnily buunwlusghl wyy byniptn 500 500 0
-Cunhwunip punypeh w)| Swnwjnipniuubp 3000 3000 0
2825| 08 2 5 |Unybiuwn 0 0 0
wyn YW dwiuubiph yepdwunidp’ pun pyngbinw)hu
Sdwhuubiph unbuwghunwlwl nuuwlwpgdwl
hnnuwdlbiph 0 0 0
2826 08 2 6 |Ypubdwinngpwdhhw 0 0 0
wyn pUYn dwhuubph Yapdwundp' pun pnigbnwhu
Sdwuubiph nunbuwghunwlwl nwuwlwpgdwu
hnndwdltinh 0 0 0
<npwpdwubbph b Jywlnypwiht wpdbpubph
Bl e : d Jepwwugunud b ywhwwund 0 0 0
wyn YN dwiuubiph Yepdwunwip' pun pynigbnwgh
Sdwluubph nunbuwghunwlwt nwuwlwpgdwu
hnndwdubph 0 0 0
- Chupbph b hunipyniuubph Jhtwpwpnip)niu 0 0 0
2830 @ 3 0 Mwnpn b hEnnwuwpwhwnnppnidubph
hbnwpdwldwl b hpwipwpwljswljwl 500 500 0
nnha'
2831 08 3 1 |<bnnuuunwnwnhnhwnnpnwiubnp 0 0 0
wyn YN dwiuubph yepdwunidp’ pun pynbniwh
Swluubiph nunbuwghunwlwl nwuwywpgdwu
hnndwdltinh 0 0 0
2832 08 3 2 [<pwuinwpwlsnipniuutp, fudpwgpnieyniutbp 500 500 0
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Pynigbnwyht dwiuubiph gnpéwnwljwu

wyn U’

1s % S s nwuwlwpgiwl pwdhutbiph, fudpbph L Cunwdbkup
:&h & E & |nwubiph, pugybu twl pynigbinwyht whuubiph (u.7 +u.8) Jupswlwl dwu | $nunwiht dwu
ntnbuwghnwlwl puuwlwpgqdwl
1 2 3 e 5 6 7 8
wjn pYnwd dwuubiph Ybpdwunuip’ puwn pnibnwihu
Swiuubiph nunbuwghunwwl nwuwlwpgdwl
hnnudwsubiph 500 500 0
-Sknwlwnywlwh Swnwnipjniuubp 500 500 0
2833| 08 3 3 |Stntywwnyniejwl dnppbipnud 0 0 0
wyny pynud dwuutiph Ytpdwunuip’ puwn pnigbinwihl
dwuubiph nbnbuwghunwlwl nwuwlwpgdwl
honwdbtiph 0 0 0
2840| 08 4 0 |upnbwlhwl b hwuwpwlwlwl wy Swnuwynipynibbbp 1500 1500 0
nnha'
2841| 08 4 1 |ophrwuwpnwlwl dpwgpbp 500 200 0
wyn prUNW dwiuubiph Jtpdwunwip' pun pynigbinwiht
dwhuubiph ntnbuwghnwljwl nwuwlywnpgdwl
hnndwaubph 500 500 0
- W pupwghl npwduaunphubp 500 500 0
T i 5 Pwnwpwlwl Ynwwlgniejniuutn, hwuwpwlwywl
Ywqdwybpwnipjniuutn, wphdhnyejniutibn 1000 1000 0
wjn U dwhuubiph Yapdwunuip' puwn pnighinwghl
dwhuubiph nnbuwghunwljwl nwuwluwpgdwl
hnndwstbph 1000 1000 0
-Untpuhnhwibp ng whnwlw (ng hwdwjupwyht)
ns Phtwbiuwlw Yuquiwlbpwnipniuubpht
1000 1000 0
2843 08 4 3 Ypnbwlwt b hwuwpwlwlwl w)) dSwnwjnipjniiubn 0 0 0
wyry eUnu dwfuubipnh Utipdwunwip' puwn pynigbitnwjht
dwiuubiph nunbuwghunwlw nwuwlwpgdwl
hnnJwdubiph 0 0 0
-850 08 5 o |Swbauph, dzwlnyph U ypntp gony 0 0 0
hbpwgnpwlwt b bwhiwgdwihi wohuwnpwitiptilin
nnha'
o g . Cwuquunh, Jwlnyreh U 4pnth gény hiwnwgnuinwlw
L bwhiwgdwht woluwwnwuplbn 0 0 0
wyn pyYnwd dwiuubiph Ytpdwinuwip' pun pjnigbinwihu
dwhuutiph wunbuwghunwlywu nwuwlwpgdwl
honuwStibph 0 0 0
- Luwfuwgdwhbinwqnunwlwl dwhuubp 0 0 0
-860| 08 6 0 Cwhighup, Wywlhnyp b Yhpnb (wy nuubpht 0 0 0
swwipywiting)
nnha'
2861 08 6 1 |<wbghuwn, Jowlnye b Upnb (wy nwutinht L L) .U
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Pynigtinwyht dwhuubiph gnpéwnwlwl

wjn pynu

% & | 3 nwuwlwpqiwl pwdhuubph, udpbph L Cunwdkup
S & _S t:§ nwubph, htigwbu twlb pyngbnw)ht Swhuubph | (u.7 +u.8) Jupswlwt dwu | $nuinwht dwu
N ntnbuwghnwlwl puuwlywpgdwt
1 2 3 4 5 6 7 8
wyn pUnwW dwhuutiph Jepdwunuwip' puwn pnigbinwiht
dwiuubiph nunbuwghnwlwt nuuwlwpgdwl
hnnywdltinh 0 0 0
urenNika3NhL
2900 | 09 0 0 |(wnn2910+11nn2920+1nnN2930+1nnn2940+1nnn2950+ |  212633,6 209633,6 3000
nnn2960+wnn2970+wnnn2980)
win pynul’
Lwfuw ngwljwt b qpuwppwlwl pinhwbnt
aoiof o9 | 1 | o [ulumgubulfimupnuiul einhutny 148700 148700 0
nnha'
291 09 1 1 JLwhiwnypngulwl Ypenienil 148700 148700 0
wyn pyYnud dwhuubph Yapdwunwdp’ puwn pnigbiniwhu
Sdwhuubph nuwnbuwghnwwl nwuwuwpgdwu
e Wil 148700 148700 0
-Unipuhnhwibp ng-$phtiwtuwljwt yhnwlwl
(hwiwjupw)ht) juqdwlbpwynipiniiibpht 148700 148700 0
- Thupkiph L phunipyniiiph 2hiwpwpnipniu 0 0 0
- Chupkph b ghtinipynitibph fuuhwnw)
JEpwunpngnud 0 0 0
2912| 09 1 2 |Swppwlwu punhwunip Yppnipgniu 0 0 0
wn pyYnwd dwhuubph Yapdwunwp' putn pjnigbunwht
Swiuubiph wunbuwghnwlwl nwuwlwpgdwl
hnnwdliinh 0 0 0
2920| 09 2 0 |Upstwlwpg punhwunip Yppnipnit 0 0 0
nnha'
2921 09 2 1 [<hduwlwl punhwunp Yppnigni 0 0 0
wyn eyYntd dwhuubiph Yapdwunwp' puwn pynigbinnwht
Sdwiuubph nunbuwghnwlwu nuuwlywpgdwu
hnnywdubph 0 0 0
2922| 09 2 2 |Uhsuwlwpg(phd) punhwunip Ypenigniu 0 0 0
wyn reUnw dwhuubiph Yepdwunwip’ pun pjnigbnwihu
Sdwiuubiph wunbuwghnwlwl nwuwlwpgdwl
hnnJwdubiph 0 0 0
Lwfubwlwl dwubwqpipwlwl
2930| 09 3 0 |(wphbupwgnpdwlwh) b dhohtr dwubwgpipwlywl
Uppnipinil 0 0 0
nnha'
2931 o9 3 ; Lwhtwlwl dwutwghnwlwl 0 0 0
(wphbunwgnpdwwl) Ynppnyeintu
wjn pYnd dwhuubph Jepdwunwp’ pun pjngbinwh
Sdwluubph wunbuwghnwlwl nuuwlwpgdwl 0 0 0

hnndwdubph

45




Pynigbnwht dwhuubph gnpdwnwlwl wjn pyYnid'
Snnh ’% = 3 nwuwlupqiwt pwdhbtibph, udpbph L Cunwdkup
Nlr: & 5 & | nwubph, hugwybu twl pynigbnwht swhuubph (u.7 +u.8) Jupswlwt dwu | $nunwiht dwu
ntnbuwghnwjwt puwuwjwpgiw
1 2 3 4 5 6 7 8
2932 09 2 |Uhoht dwutiwghunwlwl Yppenipjnit 0 0 0
wyn eynud dwhuutiph Yapdwunuip’ pun pnipbiinwihu
dwhuubph nunbuwghnwlwl nuuwlwpgdwl
hnnywdutiph 0 0 0
-Uj| tyywuwntbp pynighihg 0 0 0
2940 09 4 0 |Pwpapwgnyt Yppnyentt 2000 2000 0
nnha'
2941 09 4 1 [Pwpapwgnyt dwubwghunwlwl Yppniejntu 2000 2000 0
wjny pynd dwiuubiph Yepdwunup’ puwn pjngbitnwht
Swiuubiph wunbuwghunwlwu nwuwlwpgiwl
hnnuwaubnh 2000 2000 0
-Wy| bywunbbip pynigbihg 2000 2000 0
2042 09 4 2 |<bunpnihwlwt dwubwghnwlwl Yppnyejniu 0 0 0
wyn pyYnud dwhuubiph Jbpdwlinwip' puwn pynigbinwihl
Swiuubiph nbnbuwghnwlwl nwuwlwpgdwl
hnnywdubiph 0 0 0
Cup dwlwpnuwlbbph spwuwlwpgynn Yppntpnit
ol B ) & [ O 61433,6 58433,6 3000
nnhg'
2951| 09 5 1 [Upnwnwpngulwt nuunhwpwniegniu 61433,6 58433,6 3000
wyn pYnud dwtuubiph Jbpdwlnwip’ puwn pynigbinwihl
dwhuubiph tunbuwghunwywu nwuwwpgdwl
hnndwdtibnh 61433,6 58433,6 0
-Unipuhnhwiibp ng-Hhuwtiuwlwl yhnwlwu
(hwdwjupw)ht) wquwlbpynipniutbpht 58433,6 58433,6 0
- Thupbiph L 2hunipynitiibph Juwhuw)
JbEpwunpngnid 3000 0 3000
- Thupbiph L hunueynitiibph 2htiwpwpnipyniy 0 0 0
- Lwhiwgdwhbunwgnunwlwl dwhuubp 0 0 0
2952| 09 5 2 |Lpwgnighs Ypenieniu 0 0 0
wyn pUn dwhuubph Yepdwunudp’ puwn pnibitnwhl
dwuubiph nunbuwghnwywu nwuwlwpgdwl
hnnJwdubnh 0 0 0
2960 09 6 0 Upenipywlp (npwdwnpynn odwlnul 0 0 0
Swnuynipiniibp
nnha'
o 6 : Uppnipjwlp npwdwnpynn odwlnwy 0 0 0
Swnwinie|niuubp
wyn pyYnud dwhuubiph Jbpdwunwip' pun pynigbinnwih
dwhuubiph ntnbuwghunwlwl nwuwluwnpgdwl
hnnywatbph 0 0 0
2970 09 7 0 Uppnupywl ninpypnd hbqpuqnipuljwb L 0 0 0
bwfuwgdwihtn wpfuwpuwliptibp
nnha'
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Rynighnw)ht dwiuubiph gnpéwnwlwl wyn pUnwd’
Snnh % = 3 nuwuwlwpgiwl pwdhtiibph, fudptiph L Cunwdkup
N[:l & _5 & |nwubph, huswbu bwl pynigbunwht dwhuubph (u.7 +u.8) Juwpswlwb dwu | $nunwiht dwu
ntunbuwghnwywl nuuwjwpgiwt
1 2 3 4 5 6 7 8
2971l 09 ; . Yppenipjwl ninpuin hanwgnunwljwt b 0 0 0
bwhiwagdwiht woluwwnwupubp
wyn pYnwd dwuubiph Ybpdwunwip’ puwn pynigbnwihl
dwiuubiph nbnbuwghnwlwl nuuwlwpgdwl
hnndwdtinh 0 0 0
- Lwhiwgéwhbnwgnunwlw dwluubp 0 0 0
2980 09 8 0 |4ppnupyntts (wyy nuubpht syuipluting) 500 500 0
nnha'
2981| 09 8 1 [4ppnyeini (wj| nwubinhl syuwnywtnn) 500 500 0
wyn peynw dwiuubph YEpdwlinwip’ punn pjnigbnwihl
Swhuubiph nunbuwghnwlwl nwuwlwpgdwu
bbb 500 500 0
- Thupbph L ghtunipyniiibph Yuuwhuw)
JEpwunpngnud 0 0 0
- Cupwghl npwdwunphbp wEnwlwu b
hwdwjipubiph ng wnlinpwyht
Jwqiwlbpwnipniuubphu 500 500 0
UNShUuLULUL MUTSTMULNNME3NKL
3000 | 10 0 0 | (1AnN3010+11nN3020+11nN3030+10nn3040+nn3050 | 11800 11800 0
+1nnn3060+1nnn3070+1nnn3080+1nnn3090)
win ednuf’
3010| 10 1 0 |dupwnnnonipynit b whwppuwpniiwlnipynil 1500 1500 0
nnha'
30n| 10 L 1 |Hwwnwnnngnipjnil 1500 1500 0
wyn peynw dwiuubph YEpdwlnwip' punn pynigbnwiht
Swhuubph wunbuwghnwlwl nwuwlwpgdwl
hnndwdubiph 1500 1500 0
- Unghwjwlwl wywhnynipjwl pubink
twywuwntbp dwnwjnipyniiibp dwunnignnubphu 1500 1500 0
3012 10 1 2 |Uuwptuwwnniuwynieyniu 0 0 0
wyn pynw dwuubiph Ybpdwunudp' puwn pynigtitnwht
dwhuubiph nunbuwghnwlwl nwuwlwpgdwl
hnndwdlbiph 0 0 0
3020 10 2 0 |Utpnipynit 0 0 0
nnha'
30211 10 2 1 |obpnigniu 0 0 0
wyn pyYnud dwhuutiph Ybpdwlnwp' puwn pynigtitiwjh
Swhuubiph nunbuwghnwlwl nwuwlwpgdwu
hnnywdutiph 0 0 0
3030 10 3 0 |<wpwquupht hnpgpwé wudhp 0 0 0
nnha'
3031| 10 3 1 |<wpwquinhl Ynpgnwé wudhp 0 0 0
-Uy| bwywuwntbip pynighhg 0 0 0
3040 10 4 0 |Cypwihph whnwdubp b quuljubp 0 0 0

nnha'
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Pynpbunwht Swiuubph gnpéwnwlwi wyn pynud’
Snnh % -l 3 nwuwlyupqiwl pwdhtiukph, fudptiph Cunwdbkup
Nrr: & 5 & | nwubph, htgwybu bwlb pyngbnwhts Swhuubkph (u.7 +u.8) Jwpswlwl dwu | $ntinuihtt dwu
nunbuwghunwliwt nuuwlwpgiwb
1 2 3 4 5 6 7 8
30411 10 4 1 |Cunwuhph wunwdubp b quywlyubp 0 0 0
wyn peYnwd dwiuubph Yepdwunidp' punn pjnbnwiht
dwuubph wunbuwghnwwl nwuwlwpgdwt
hnnywdutiph 0 0 0
3050/ 10 5 0 |¥npdwqplynipynit 0 0 0
nnha'
3051 10 5 1 |Snpdwgpynipniu 0 0 0
wyn pUnd dwiuubiph Yapdwunuip' puwnn pjnigbitnwht
dwhuubph nunbuwghnwlwu nwuwywpgdwt
hnnuwstbinh 0 0 0
3060| 10 6 0 |Phwlwpwbught wywhnynid 0 0 0
nnha'
3061 10 6 1 JPuwlwpwiwiht wwwhnynud 0 0 0
wyn eUntd dwiuutiph Yapdwunuip' pun pjnigbinuwiht
Sdwiuubiph nunbuwghunwlwl nwuwlwpgqdwu
hnnywdutiph 0 0 0
Unghwywlywt hunpnily wpipntnyayniiiln (wyy
3070 10 7 0
nnha'
Unghwwlwl hwwnily wpnntniejniutibn (w)
3071 10 7 1
wyn pUntd dwiuutiph Yepdwunuip' puwn pynigbitnwih
dwiuubiph wunbuwghnwlwl nuuwlwpgqdwl
hnaluttboh 10300 10300 0
-y bywuwntibip pynigbihg 10300 10300 0
Unghwjwljwt wuwppwwlniyaywl ninpypnd
3080( 10 8 0 |hbypwqnipwlwl b bwuwqdught wyfuwpwtpbibp 0 0 0
nnha'
Unghwwlwl wwonwwunipjwl ninpunnwd
30811 10 8 1 |hbnwgnuwlwt b bwhuwgdwiht watuwwnwlptbp 0 0 0
nnha'
3000| 10 9 0 Ungpuwqwljwl wuwpipujwbinipynits (wy nwubpht 0 0 0
swwiplywting)
nphg’
3091 10 9 1 JUnghwwlwl wwonwwunipnit (w)| nwubipht 0 0 0
wyn peUn dwiuubiph Yepdwunwip’ punn pjnigbitnwih
Swhuubiph nunbuwghnwwl nuuwlwpgdwl
hnndwdubiph 0 0 0
SN | g = 3 Unghwiwljwl wwauwwlnyzjwup npwdwnpynn
odwnwl dwnuwjniajniutibp (wy| nwubiphu 0 0 0
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Snnh
NN

Pwdhti

tunudp

Twu

Pyngbwnw)hu dwiuubph gnpéwnwljwl
nwuwlwpgdwl pwdhuubph, judpbpp L
nwubiph, hugybu bwl pynybwnw)ht dwhuubiph
nunbuwghnwjwt pwuwljwpgdw

Cunwdbup
(u.7 +u.8)

wjn pynul

Jupswlwt dwu | $nunuwjht dwu

5

wyn pynw dwiuubiph depdwunwip’ pun pnigbuiwghu
Sdwhuubph nunbuwghnwlwt nwuwlwpgdwl
hnndwdubiph

3100

<hULULUL PUGPLLELPL 27HUULN
MULNRUSUSPL SNLAEP (1nnn3110)

win pUnuf’

g

3110

L& uwnwwpnipyuwt b hwdwyiptubph
wwhniuypwihtt $ntin

nphg'

312

<< hwdwjupubph wwhnwwnwiht $nun

o|9o

wyn pUnw dwiuubph Jepdwunwdp’ pun pnigbnwhu
Sdwhuubph nunbuwghnwlwl nwuwlwpgdwl
hnnywdubiph

(=)

-Mwhnwnwjhu Shengubp
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